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1 S0l 2§t 3007t QIC 1 22 HH|Z0|CE & 0t2]2] Lig|7t (1) 2Nk HMAIZH= ZI17F OHLIEL,
Qo AUCH IS°| M= =1 ML (2) ZXI2E MM 7= RIEL?
Z0{ Their wings7t 540|322 areS #L}, 1, 3,5 » beSAPt Y= 259 222 beSA H0l notg MA
2 ERXF 2ol & SO QUCH 740 HE=e (M ZZNCE OIS, 9222 F0I2 beSAt At2|E HIYAM THELY,
eIz SH @0l 0|20(CH IHQ| K2l 7t 2, 4 » "There islare] ~,2l 2HE2 is[are] FI0l notS MA]
» ©® I 2= K022 HBAL ItS ARZ ItsE MOF S UED, 222 There® is[are]2| Xt2|S HHYA CHELY,
Z0E Its title, SAH= isO|C,

B

1(d), am not 2 (f), are 3 (c), is 4 (b), aren't
5 (e), isn't 6 (a), are

1 Ue= 39 XEIF0[L? — (d) OfL, = OFL{OF,

b HTHELO] LIO) 2ol 201 A= T F0f= 7+ I
2 Wi Ol &X1? - (f) 8, Ot

> STHYOA ARIOf 2ol =klotn o8z tEe| 0=

0x
o
g
gcl
[
o
0



3 42 ADI* MI—J OtS0I4? - (c) 8, SOk
» Sam2 HAIE 7t2|7]= 301 Ha0l2

2, tigel o 07 OlIHIE=
he7t =iCt, = |_I-oAI- I

4 M52 9 A0IY? - (b) OFH, 2 X| 0.

» the bookst= 3218 240122, HE2| F0i= they?t EC. EXERCISE

5 20| L9 FMBBO0|LI? - (e) O, TZR| QOE.  eececcscsscssssssssstssssssssssssssssssccsccccccssssces
> it2 30UE o022, IHES R0 it0] ECt, A

6 et 7F =4 HRo|U? - (a) 8, X0
» you and |= 191 24022, [4EQ| F0f= wet EILL. 1is 2 likes 3 need 4 wears

1-6 » THEO| Yes 2 Yes, ZO|(THHEA + beSAt,2, Nog 5are 6swim 7go 8 watch

72 "No, ZO{(IHZA + beSAt + not. Q2 H3iCt 1 e Lo xlw \

> At nice YU= beSAIE 2L,
2 U9 ETE %*ES Z0tict,
¢ » =0 My rabbit0| 3212 H4=0]22 SAt H0fl -(e)s5
=210,
3 L= MER Ho| B35t
> F0 |7} 1920|222 SAIHES 20,

1 No, there aren'tare not]. 2 Yes, she is.
3 Yes, they are. 4 Yes, there are.
5 No, they aren't[are not]. 6 No, I'm[l am] not.

4 B2 Mz ZF0|A YE0|S ML,
1 A:sks0l 50| QIL? B: OfL, 2101, » Z0{ Mr. Brown0| 3218 H0(22 SAt Hoi| -(e)sE
2 A:HoZE B20A LL? B: 8, %ot EQIC,
3 A IS2 48047 B: 8, %ok 5 HiLOl= £50t50] QUL
4 At HIEO HHZS0] L? B: 3, U0 » '~0| QICFEHE 29| TThere is[are] ~; F22 beSAIS 2Lt
5 A1 013_'0%% HY T IFSHL? B OfL, TIEX| 40F, 6 UI0|ESQ L= 238 HSi,
6 Al Q5 MEL? B: O, MAKX| o0t » 70| Nate and 17t 240|122 SAIYS &0t

7 HESM19 ¥ HAZR Stuo) 7tC
» 70 Ted and his brother7t 40|22 SAtAHS 2L,
D 8 Q2= MY TVE =20t
> =0 WeZt 50|22 SAIRES 20

A

1ls it a true story
2 Jin-woo isn't at school
3 Is she afraid of snakes

B

4 There are not any windows in this room

1,3 b OBR0|D2 TheSAf + X0{ ~2,9| HEI7} S/0{0F BT} 1gets 2 makes 3 helps 4 wake 5 have 6 brush

2 » BEHRO0|ZZ "F0H + beSAt + not ~,2| HE{7} Z|0{0F 1 92| 0= OFRI0)| LW YOjLEALE
sttt » 2201 My momo0| 301 H4:0[22 EAF Fof| -(e)sS
4 » "There is[are] ~,2| EHE2 beSAt F0| notS MAf soiry.
BHECH 01 any windows F0|l £401 in this room& 2 T3S O§Q OFRI0) OFR! AIAFZ ORTAICY
2oict b 201 She7} 301 H14:0/22 SAF S0] -(e)sS EOICH

3 22| Otith= A0S £ACt
Z0{ My dad7t 3218 H=~0|2 2 ZAt F0f -(e)s5 =QIC.
4 3T LtA Y0tet Ottts LEZ 7RI
» =0l my mom and dad’t £40|22 SAIAYS A0t
5 2= 2 orEg Y.
> 20l We7Zt E40|22 SAFHYES 2O
6 AAHF0 L= e 015 Herh

—
> R0 7 1QH0|22 SAHEES 2

A

10 G-ZONE



C

1am 2sleep 3 hates 4 follows 5 learns

Lt 87t D=t
» A hungry Yol & 4= U= A2 beSAOIH, 12+ &H
MOl beSAHE amo|Ct,

2 JiFElER2 e ¢ ge .
» 0] Frogse S+0|22 SAIEIES 20t
3 e S 0 Aojsitt
F0| He= 321% H=~0|22 -(e)sE £QICH.
4 U ZOtXl= OLEX| L& T2ty
Z0| My dogi 3213 ©0|22 -(e)sE 22Ut
5 O2el= oM SIS Hi20.
» 20| Emily= 3218 H0|22 -(e)s5 22ICH
D

1are, design 2 are, bake 3 is, reports

0 Ltz HA 2FIIMOICH L= HAS 2HBHT
» =0 7} 191 40|22 beSAts amS A1 YUtEANE
SAHHS 20
1 J52 CX0|H0ICE 52 R XISt
» 301 They= 3918 E40|22 beSAl= areE 410
UHSAh= SAHHAHS 20
2 2= MEALOICH 22|= Ao|2t F7|E ZeL
» 30| Wes 40|22 beSAts areS 211 YUtz Al:=
SAEEE 20
3 e KA 7IX0ICE JHE RAS BESH
» 0] Shets 321& H40|22 beSAtE isE A1 YHtSAt
Flol= -(e)sE =QUCt
E

@is ® lives ©is @ enjoys
® love @ practice @ are

Obg, BILIA BT, L 0|22 $A|0F. O] AFEf2 Lf &I+ F2|A0F
Je 22 & Foj| Mot F2|AE Lo 71 EIst FIS0F O=
£1E EA4. U E4E OFF %OkSH el it 0| ZHE
ALl F2|ALt L= MY Z2 FI70F

@, © » 70 This2t Chris7t 3218 H40|22 beSAts is2

©, @ » 30| HeZt 321 H4-0|22 UotEAL FHojl -(e)sE £2ICH.
©®, ® » 0] 12 WeZL 121H0|E22 YUtSAls SAHHEEE £
@ » 0 Chris and 17t 240

==

B2 beSAlE areS L0,

NT

08 aus=

AL

EXERCISE

A

1doesn’t 2isn't 3 don't 4isn't 5 don't

1 L2 TVE EX| &=L,
» 301 Billo] 321 H4=0|22 BFR2 T

[does not] + SAtRS ~_,0|Ct.

Z0{ + doesn't

2 U&= Lol OARRISEIL OfLCE,
> 2OHA ~O|CHEHE S29| beSA XEoICt, URHEAL
BEXHE9 42 doesn't Ol SAIREIRO0| 20t
3 L= 2102 M3 ARX| GeCt
> FHOl YREATL QOB E BHER 50 + don't{do not]

BAS 0l QUK QAT
> beSAS EHHS beSAt HIZ
5 11010|E2 B2 Ysg %XI oreCt
Z0f The children0]| 3
don't{do not] + SAt %%

T
H
1o
|

~_,0[C}.

B

1Does 2 Do 3 Does 4 Do

3§ 240/22 2522 F0f +

0l note =¢I HEHO|Ct,

1 dd= X ol ARY?

2 OS2 =¥t Agss sU°

3 S22 R Yes L

4 U= W MepHsE ofY?

1,3 » F0{7p 301 B [f LESAY| 9ZE2 "Does + F0f
+ SAHEE ~2,0/C

2,4 » 07} 321 BTt ord O LHESAS] 9222 Do +

~?,0[C}.

1 Do you have a new cell phone?

2 The river doesn't{[does not] flow through the city.

3 Mike and | don't{do not] play basketball.
4 Does the dress look beautiful?
5 Mary doesn't[does not] keep a diary.

0x
o
g
%
[



6 He and his son don't[do not] look alike.
7 Do bats hunt for food at night?

1 U= M22 SHEe UL
— UHE M22 ST AL?
2 1421 EMNE S8 520
— 142 1 =ME Soff =X Y=t
3 01|22 U= 5718 ot
— 010|539 L= 5718 ofX| E=H
4 1 EYAE= OrSHH 2elnt
— 1 Efas OS] 2014?
5 Hals g7IE .
— H2ls Y718 2X] =t
6 19t 19| OFS2 Hixol #QICt (29 19| Ol HULH)
— 119} 19| OIS 2 HIzdll 2O0|X| Y=Lt (29 19| 052

'Y O Yts ALl oi22e Do +
|

=

2,5 » 307t 301F S [ 3
doesn't[does not] + SAHHE ~ 0IC},

3,6 » 07t 3207 STt OF M YBISALY BHZ2 0 +
don'tldo not] + SAIY ~_,0|Ct,

4 > 307t 30 thY I UBtEAt] Q222 "Does + =0

+ SAHEE ~7,00

rlo
4
<
T

D

1 No, they aren'tfare not]. 2 Yes, it does.
3 Yes, it does. 4 No, | don't[do not].

1 A Ms2 I
B: OfL|, 2= 0L,
> beSAte] O|220i| TSt 259 2 "No, F0{(THHA) +
beSAt + not..QIL, the booksE 7t217|= F01 they?t
3013 540|122 aren'tlare not]E Lt
o

I

off A4?

2 A OZR2 HiLUUE E0t5iY?
B: &, Z0fdH
P LUFSAF QR 20 THE SEO| HERE "Yes, FO(CHEAL) +
doldoes]..2IE, 301 it0] 3¢1% 0|22 doesS 2Lt
3

URSAH Q2201 CHEH SHO| Y2 "Yes, FO{(CHHAD +
dol[does]..2IHl, the houseZ 7t217|&= F0{ it0] 321H
H0|22 doesE L.

4 Al Ude 3% F3ts et E7|L7

12 G-ZONE

E

11 don't[do not] have a cat.

2 Does it have strong legs?

3 He doesn't[does not] believe it.

4 Do you do your homework alone?
5 Doesn't she live with her parents?

1 L= Y017t eint.

» haveZl YEHSALO| =0 7} 1Q120|22 BB TF0 +
don't{do not] + SAEE ~ 9| HE7} Z[0{0F SiCt,

(not have — don't[do not] have)

2 3712 EE8 URE 2D UL?

» has7t
"Does
(Do it

BESALOILL 01 it0] 321 H0|22 SZE2

F0 + SAHEE ~2,9] HE{7 E[0{0F SiTt,

4+ ne g

b >

as — Does it have)
a

3 = O3S YA e

» believeZt YBLSAI0|1T :0{ HeZt 321E Ha-0|22
BHEL2 'F0 + doesn'tldoes not] + SAIEE ~ 9
SE{7} Z|0{0F BiCt. (don't believe — doesn't{does not]

believe)

4 U EXM STS St

» do one's homeworke ‘SXZ ittats SO 2 0f7|A
do= UHEAIR ML F0{ you}t 2Q1Z0|22 Q222
Do + F0f + SAHY ~?,9| HEH7} & 0{0F $iCt

(Do you your — Do you do your)

5 JUE BREm AX Y?

» lives7t YEHSALO|T 301 she?t 3213 H4=0|22
EHORE2 "Doesn't + T0| + SALEE ~7?,9] HEf7t

Z|0{0F BtCt. (Does she not lives — Doesn't she live)



NT 3018 E140/2 "When + does + 50f + SALE ~2.9

09 OI_I_AIJI_ ol o I_l?__l?_ 3 > BES 5 AIZS 20RE 20|22 9|2AF WhoE MO,
M - = = Who7l Z0{0|22 "Who + SAt ~?2,9 FE2 2Lt

Z0{2 M0l QA= 3012 T4 FIBICH

EXERCISE 4 > 2 Qs BN 22 20{EE 20/22 How manyE

....................................................... MO, =07} 2018 ©4 youO|2 2 "How many + 4 %

A QU BIAe 24 + do + T + SAYE ~2.,9] HEfZ
et

1(d) 2@ 3(e) 4(b) S(g 6 7 () 5 » HAS 20j5 H0|22 o2A WhereS A0, Z0{ she7t

1 Y= 7ANOR 222 57 - (d) 8, o 3012 H4-0|22 "Where + does + F0{ + SAYY

2 Ui ofE 252 517 - (1) L F97IS 3 el Sl

3 e oM 252 512 - (e) A 2R 20N

4 Us olF 252 U7 - (b) Y OFEloY.

5 L= 5i20) 20MLt 92 2£2 51?7 - (g) 302 SO D

6 w7t AT 253 otl? - (f) Lkl OIBIAIE otA. 1 He works at afthe] supermarket.

7 U9 252 U2 - () YLFHE H20| E7| H0[of.

2 Eva works with Tim[him]. £& Eva does.
3 No, he doesn't.

4 It's[lt is] green.

5 There are ten apples.

1Whose 2 Why 3 When 4 Where 5 How

1 "2 oOolM otl? — J= +HOBI0A s,
1 A: 0| 79| Jhuo|L? B: 222 T1149] Z0[ok, 2 7t R0 S YotU? — okt (2R et BH) s,
> hersahs ARUBAIR HESHL Y002, w7ol(Ag2) 3 HE AR AN BUHY 5, X 8L
ot % o12A Whoset A3l 4 B AES T A7 = ZSA0I0F
2 A:B2s 9 2% L > what + BA: B2 ~
B 7149 TOk0|7} O} MS20[0F. 5 Z S AL AU? — 107HS] AlRk7E U0,
> 0IRE 2 UER0|22 22A WhyZt HH3ICt, » how many + & = U= FAY B3 & IH(Q) ~
3 A: Lol U2 O1X|LI? B: 10 420[0F. 1,2,4,5 » AZAt U= AZE0= 0= LHE0| CHal
> IS 22 922022 9|2 A Wheno| H3iCY, THHSE Soior et
4 A: G Ui OIEIOI SIEILI7 B: T SHOLM 25, 3 > YA} ol ARR0IE Yes E= No MA BT
» MAZ 2L 0|220|02 9|2 AF Where?} HE5IC} SHAZZ0[Y S| LiE0] £H0|22 Noz HHESTHTt
5 A:0] SZ0|= ZOtYU7H? B: S0 YL
» 7HAS B0{E1 QUODR Thow + HSAHLS MO} ST,
E
1 Why do you hate math?
c 2 Where does he practice the piano?
1 Why do they need 3 Which size do you wear, two or three?
2 When does he take 4 Where is your umbrella?
2 Who cleans 5 Who visits your blog?
4 many computers do you have 1 e of AtS A0f5HL?
5 Where does she borrow b 207} youO|Z, OID}4 YIS AL hate?} 270l SAt0|22
1 » 0|82 20{EE Z0|22 O|2At Why= MDY, 0] they?} FOI2AL + do + F0f + SAHEY ~2,9 HEH7} E0{0F SiCF,
301 240[22 Why + do + Z0| + SAEE ~2.| (are you — do you)
S{Ej2 20t 2 e oOollM T|oteE ¢EoIL?
2 > AIZS 20{EE 20|22 92AF WhenS M0, =0 hel} > UBISAIL| Q220 QZAZL UM QZALE ZF T 2o



Ii

Ct. (Does ... where? — Where does ...7)

3 G2 29 3 B0 O MO|RE &L
> HOHEl | QoA MEHEE M= "0l ~'Ete S22 "which +
YALE 220t (How size — Which size)
4 4o 242 ohjol AU
> beZALS| QR R0 QEAV U FR "ARA + beSAt +

Z0{ ~2,9| YER7t =0f0F BTt (Where your umbrella
is? — Where is your umbrella?)
5 S7HHY 2235 YEsH?
> AZAVE EHQ FOY ME "OZA + SAL~7, HE 2
M0, olmf =0i= 321E S FFFHC (Who does visit —
Who visits)

T
10 =ner=301- 50 |

EXERCISE

11(E01), go(EA) 2 Babies(F01), sleep(EAl) 3 The
movie(F0), starts(SAl) 4 This plant(Z01), grows(SAL)
5 He(&04), plays(EAt) 6 This train(301), doesn't stop(SAL)

0 I M2 &I/ E-

1 U= HAZ Studf 70}

2 OM|E2 &Y T

3 1 FakE TAO| AlEFei

4 0] 4=2 O Eef A2ttt

5 & 90| 2 20| A7| o5 =4

6 0| Zxt= L3 FoIAM HEX| b=tt

0-6 » 28 F0I7t 22 MY 20, SAZH LS 20t

B

1 buy(SAf), books(E%{01) 2 keeps(SAl), a diary(5%01)
3 makes(SAl), a strange noise(5X0l) 4 meet(SAl),
them(5%101) 5 drink(SAH, three cups of coffee(EX04)
6 play(SAl), soccer(501)

14 G-ZONE

» online2 $4{0{0]|Ct,
2 2XE 7]
1 Rh= 0]ddet A28 Hi,
L= 55 99 .
» on Sundayse =410{0]C},
5 Li= Y Ao A
» every day= $4/0{0|CH
6 U it L= 2 575 it
» together= a=4{0{0|Ct

0-6 » 28 SAt= 70 #Holl, SH0i= SAFBIZ HO| 20

C

1 brings(EA), me@FESX0), good luck(EESE0])
2 teach(SAH), my sister(ZH&E5%{01), math and science
(E™SH0) 3 don't buy(SAL), my son(ZHE=X ),

expensive shoesIFH=H0]) 4 lends(SA), me(ZHs
his comic booksRIE=X0{) 5 makes(SAH, me[@EH=

[=}
coffee BIHSHN) 6 give(SAl), me(ZESE{0]), ten dollars
(BIE=X0)

0 & 2 Lo AXES Bt
>

alwaysi= 4=410{0]Ct,

1 0] 5Z0l= Lol #2S 7bMOHED.

2 L= W 6SMoA st 1istg 712210

3 Li= Lo OFSOIZ| ZiHIM MEtE AL FX] Y=Lt

4 =2 M2 LiojA XpAlQ| Brsts daEDy,
» sometimes= $=A0{0|Ct,

5 Lo HH2 T AA 2 LA ALS 2Hs0] FO0
» after lunche £=4/0{0|Ct,

6 Lo Bnd2 0ix LoilA 1022E Al
> every weekE FA{00]C,

U t FROIA sigeh=E
7&’.&1%@.019# TS0 oligcks AESHOL MU=

O[O ILY,

D

1 exercises 2 reads 3 brings her cat milk 4 eats an

apple

40K 1Y OF%
RIECE =R
T4 DO SRS HHCIELE
T4 OFE AIARR At B JHet EA
rZ0{ + SALS] EEH7} S0{0F BT,

L4 > TEO| 4 SAF + 20,0 HEf7t Hlofof Bict

2.

[

ES ort

N = Hh N =



3 b TRO| + SAF+ UHSHO(~ ) + K
HEN7} SI0{OF Bet.

o
b

X0i(~2).9]

E

1 You sing very well 2 He doesn't believe the truth
3 carries books in her bag
4 Chris asks his brother many questions

1 » "30] + SALC] HEHIE =0{0F BHTE very well2 +AI012
1 ol 2L
2 > "0+ SAF+ FHOL HEHIE E|0{0F B
P IR0 + SAF+ 5501,9] HEWTt E|0{0F FHTE. in her bag2
A= 1 FHofl 20t
4 > TR0 + A+ ZFHEH(~OA) + HYSHO(~2).2
HE{7} SO0 BiT.

-
11 =0t =301 52011

EXERCISE

0 U 25 mEsio.

1 JEE Lo 6iSH0| ottt

2 0] 342 a0l ot

3 19 HE2 ANMY S

4 152 oHs| 22 2Foit,

5 O AIFE2 & 3Pt ot
» easily= £~4/0{0|C},

0-5 » beZAtet feel, taste, sound, remain, get 52
SAIE2 AL S8 52 H0{QF S7H 2Lk

B

1him(E&01), to get up early(SHZ 20{) 2 me(F%{01),
tired(E382Z 20{) 3 me(SE01), to lose weight(S24
20{) 4 the windows(5%{01), open(=%iZ &0i) 5 her
dog(EHA), to sitESXZ 20

0 ARFE2 IE MM2td 220t
> SAtcall FHolle 552 HO{Z YAPL & 5= QU
1 L= 271 9™ Lo |S B
> SAbwant Foil= =524 202 Mo + SAHEH.0| 201
2 olojde LiE mEsk sk
> SAb make Fol= SEZ 202 HEA
3 Lo IX|E2 HoilA MBS £0(2t Lottt
> SAtell Flol= S22 202 Mo + SAFHE,0] 2L
4 L= A 3715 2l H28 ol
» SAtkeep Flol= SXZ 2012 YEAPL S & QUL for
fresh air= £410{0[C},
5 J4E X3 Rp7] 700 gteetir HFSHo)
» SAtorder FHolle S&24 20|12 Mo + SAFAHE,0| 20,
often2 $4{0{0|C},

|E

o
0

2

o

1 to join a book club
2 to throw out the trash
3 to fix the computer

1 YOt LOIA SAM 20l FO{sH2tn LEsHAIL

2 Oftth= LIOIA| 27|15 ti2]2f1 2ESHICE

3 JSM2 W ZREE AX7|E it

1-3 » BF TR0 + A+ FHO| + 54 20,2 0|R0{T
EX0|H, SAttell, ask, want Flole 2X4 HEH{Z "to +
SAHHE 0] 20t

D

1 beautiful 2 well 3 great 4 to help 5 rude

1 0] 2= OFSELL
> beSAtE HO{Q &H M=
ALY,
2 Lo o= E2 2 &
» SAt dances E0{%t & | X b= SMOIH o=
AR 2AE & 4 QUL
3 0| M= oI =olrh
> SAtlook2 HO{2t &4 M= SAIR, HOIRE AL 2
2 Qo

SAZ, HO2= "EAt & &

rz

0x
o
g
gcl
[
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4 U= U7t U4E Eo=7|E dsttt
> SAtwant Fl0lE S4Z 202 "to + SAHER.0| 20
5 L= 1 Q0B+ o

o
=)
» SAtfind Flol= X2 2012 AL 2 4 QU

E

1020 3@4@ 56060706

0 Ltz 499 71£0] Lt
» 17t =01, haveZt A, four family members7t
=X0{0|C},
1 L= Nz 35S 2ot 228t
» 7t 301, cookO| SAL, sometimest for them2
A1010|C},
2 L= B8 A0 §17| 25 THELL
» 17t 2201, makeZ}t &AL, chicken soupZt SX0{0|H,
usually@t in winter= 4{0{0|C},
3 O 5I= 0fF £2 HAMIH T
» The soup?t 01, smells7t SA}, very goodo0| &0{0|Ct,
4 Lbs Lo 71R0A O #18 ZO
» 7 01, giveZt SAL, my family7t ZHI=%{04, the
soup/t HESH0{0]LY.
5 52 70| ATt H2stict,
» TheyZt 04, find7t A, it0] 2X04, delicious’t 44
H0fo|ct,
6 152 IS iR ZOK3i
» TheyZt 01, like7t SAL, it0] =204, very muche
SA0{0]C},
7 Lo S Lo J2s Y CHE0 gati SEST
» My sister7t 01, asks7t SAL, meZt 01, to make it
every day’t %2 20{0|C},

1 2 EVlE gTe E0teih
P TR0 + SA+ X0, =AM,
2 e MEE0| AU Hif Ijees A
P TR0l + SAF+ N0 + FHZF 20,9 &M0|H,
allow Holle 257 HO{Z "o + SAHIE.0| 20
3 =2 HM100=0M FEEC
> St boil2 SE0{LE 20 gl0] A= SAMO|H A7 8
U
t
Z0] + SAH+ HO|,9 =MZ, SA become?| 202

=

fu]

QIER Mol 21,

(i Lo

H
r
[l

rr

v
-

16 G-ZONE

AL 2 & AL
5 22 JEHME LAOIAM LA dEs BLiFL0E
P TR0+ SAF+ ESHO + ZESH0LQ &M
AR RS0l Sk ZEE=E0(me)t
ZHZH0|(gifts)7t O[01X0F S,

REVIEW TEST 02

1® 2® 3 Doyou 4 Which 5Who 6@ 7@ 8@
9 Why does Kevin study in the library 10 @ 11 ®
12@ 13® 14 ® 156 16 (1) Its (2) It's (3) it's (4) It's
172 18® 19@ 206 21® 22Q 23Q 24 @
25 26 @ 27 @ 28 @ 29 (1) are (2) How

30 (1) doesn't allow me to drive (2) my sister lends me
her car

1 > listen?] 3013 H23H2 -s5 29! listensO|Ct,

2 A:Ue Xz &H7F =UAL?
B: OfY, JIZA| 0L L= AlZ0] & E s,
» "Are you ~7?,0i thet tHE2 Yes, | am.” £= ‘No, I'm
not. /6, ZUd £F| WiF0] =|0{0F SIE2 No, I'm

not.’0] MZAEGICt,

3 ArUe #Ig ofL? B: &, YOk = L AHEO|OF,
cousin AE
> YBLSALS| Q|22 DolDoes] + 0 + SAHEH
~7,02 20 WHAM F07H0|E2 2222 0=
youZ} =|0{0F STt

4 A Us gn et S0 o As o S0teiy?
B: Li= Ltzts Z0fa.
> FollT Hel oM HESE
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2
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5 A:BIIM =7t 83 MY HotY?
B: Li210[0F. = SHES 7HXL L0

» BES 5 AIS S0E= 0122 2ZA whoE X0,

OOI

whoZt 29| ZF0{0|22 "Who + SAF ~2,9| HE{Jt ECF,

6 2| RRY2 7|7t ot IX| gL,
» besSAtY BHH2 besAl HIZ F0ll notS MA] BHEL

7 OS2 Wt 33 TEE Y Z fotK| L.
> LetEALS BENHHE do[does] HIZ FHOl notS MA
orECt
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@ HE 0] ZXp7t Otg0f EL?
@ J52 2HE 7HIT AU? (TS0 27 U?)
® Uz HAHXIE stu?
do the dishes 87{X|5tct
@ U E01M HL?
® He 277 EY?

201 F0oll SAPF i HAS LE=E B0l LBz
be A7E U= QZ20[C 07t youOl|22 AreZt
SO0{710F BHCt, LI A= YBESAZE QU 047} you =
they0|22 Do +
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]
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ﬁ
b-IIO

O Yes, | do.” = ‘No, |

@ A 0{EA XILH?
B: & XY, 10,
@ At U4 XZ HEY?

O|ZALRIL AlZtoi| CHal CHESAL
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Z0{(My friends)7t
(has — have)

E40|22 SAFHYES MO 2T

@ He E0f B2 =0] E2otY?

@ Ue oholM gtU? (L olt] E40]4?)
@ 7t L9 H=olL?

@ He o a7t tL?

® He M AHL?

> @ QA= 2% W ol of St (Is who — Who is)

=
® Lt 3T Mg sy,
| PN

@ 14 ZXofA e 2ES ot
® JUE o §2 25 HEi.

> ® YUSAL L= AN EF0IA LEtS ALt
beSAtS &H MX| =Lt FHOl 2X0{(more water)7t
LIRQDZ2 UBEAE 2L} (is wants — wants)

=

T2 sks0fl Z3 QUEUCH IA2 H| Q= ol LIEHLE,
22 SiEUC (2) ORS W2 Hoishe. J2iut
T2 &t OtEEELLh HotR! (4) A2 SXIHYLL
appear LIEILICH / bright 812 / huge 7Tt

» (1)9 itse CHHAL itS] ARZ0(1, (2)~(4)2 it'sE it isS

SYHOIC

40| BIX2|7t 2ol UL,
empty (Xt2|7h) HI0 Q= / hall 2, &
» "There is[are] ~.0lM =01 many empty seats7t
40|22 beSAY 243 areS 201
2= M0 APt = OFE0l AFRISHA] =Lt
take showers AFg/otCH
> UBtEALS| RHELS 'R0 + do[does] not + SAHEY
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20

21
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23

24

25

26

18

raise 0 22|k (5
> @ UBLEAR HHEL "0 + don't{doesn't] + SAAH
~,2 HEj2 2Lt (hasn't

28) 712t
— doesn't have)

Lot L= R<1 A& E0fot7| W=
@ He F3s £0foHL?
@ He =< A= E0fst

® He oM ZoiL &5 27
@ He otA 20| &8 247
® He o 20L&

r

B

r

2

i
HT
-

S

» Becausez ot HS

= 0
2& 92A whyE AF8SH F20| HMHsiC

d= 28 =

» 2HE0M doesn't FlOll= SAFEEHO| 2/0f 5122 @=
HESHA R0t

o|x2 ElEe]
» 01 Thiset 20 good Al0|2] HIZH0|= H0{Qt &HH M=
SAZ} 2P0F BHTt, [ikes 2017 OfL2E SX0{2F & M=
SMO|EZ HESHA| L,

He e =L

O 71 (HBA) @ B=Tt (FEA) @ 2 (BA

@ HRZ (AN © &l (FEAN)

@ Mol Zat7h ULt

Q@ A &0 EAHR 20

@ 2S0[0f Fo| 8t A

® L& Qtofl X717t Sht QUL

» "There islare] ~0IA beSAtE FHoil L= F012] 20
a2t 2EE. O2 243 HRER are, ©, @2 4 +
Q= YA LREBR s, @, ®E= HaFAPE LIRER is7t

t oAl s stk
2701 siFots AHSHOL =M=
L. RS X01= me, ZTEX0{= cookies?t EICH
f2| AYE LA oA ek
brightly 9
"Z01(My sister) + SAl(tells) + SX0i(me) + 5%

l—_l
I
o

G-ZONE

27

28

29

30 | Oftih=

E0{(to smile brightly),2l F#Z0ILCt,
O L= XIg 7I20] &0
0| + SAF+ 20,9 20IC}. nows
@ HlE|2t Elt= TIF0|C
FO0 + SAF+ 20,9 #x0|0,
@ 25 £2 440 o,
P 0| + SAF+ SX01,9] #20ICE today=
@ Myd2 2(01A 2&3] stk shlct,
P IR0+ SAF+ X0 + 5 HO{,Q FRO|CE
® Ltz OHLIOIA| OHY O|HYS EHCY,
P 0] + SAF+ ATSX0] + XYSH0Y,Q 0| every
day= #Al0{0|Ct,

TA0{0[C,

FA{00]C

@ J= 255 %ol &t

P 0|9 SALR 0|201X 2O, a lot2 $=A10{0|Ct,
@ o2 L2loA ke 72X

» use ZHI=EX01, mathe HESX0{0ICH

® L= XIZHHE ZO0fptct,

» 2M0{= cheeseburgers GtLtO|Ct

@ J4"E= REE 7010,

» a famous singere E0{0]Ct,

® L= J20] s 220,

» SX0{= no idea about that LtO[C}

@ Lt= LOt=E 7HX|L QUL

@ Le 2ds & 2.

Q@ U= W DO=E Z0FRI.

@ OfX|Z A2 I e =ACS.

® Lt= OfM| Af LjOt=S BT}

P @= "0 + SAF+ B0y, LA "FR0{+ SAF + SH0L9
SHEHO|C

A0 LR B2 ARSI (1) A0

A 2080| 101,
» (1) "There is[are] ~= "~7t UACk2h= 22, 01 too

many people0] 40|22 beSAte] B8 areS Lt
(2) 2 7H[]erol2ts K22 0 s 22 M= "How

many + 4 4 Sl BAR] BAH ~2,8 A0

= JO RE (1) W7t M5k WS ﬂ%*ﬁkxl

SIoAICt J2iLt (2) 22| FLhe LA RHAle| RS

> (1) SAt allows SHOQt S5 HO{QF &4 A= SAR,
EXZA H02E to + SARIE.S 20t
(2) SAt lende 7HEHSNO EHSHO SH M=
SMZ, me?t ZHEEXN0, her carZt Z™EX0{7t ELt,




5 = Hoil Ml tHe| ARHE 7HX|LL UL,
6 A:EZ2 ogo| AY?
B:

= = = J= Ap7| oA B2 3 9Uof,
HMAIA, SR H :
] 2 SAMAA], SAA 21l 1,3,6 » X3 1% 591 U3 UEHDR SUTSHO| HBlL,

2,4 » GHOL} EtEEl= LS LIEHNE 2 SATHAIX7E X Z ol

EXERCISE 5 > MERZS LIEHY

SITHA| R 7} X RSICY,

A

11'm[l am] swimming in the pool. C
2 The flags are waving in the wind.
3 Scott is cooking dinner for me. 1get 2is 3drinks 4 rises 5 begins 6 freezes

' : ’
4 Is the man lying about his age” LE= OFR1 A0 20{LITt
5 I'm[l am] not drawing my brother. Ijaj marAQ) 9l O[T

HHE ALIE A5 O,

- rr

!

2| stule= Y F QAIOf AIZFSHTE

=)

1

2

A 3
SN =G5t ALt 4 HY2 SZOIM =0

5

6

1

b SIS = ul
1218 ©4:0|22 beSAtE amS X1, swim THES + =2 0°CollM At
CiXtS .02 TSR OX|3t X122 3t ¥ Of M1 -ingS , 3,5 » HHOIL} Bh=EEE= Y2 Loh= A0IE2 SFAME
=2ICt, 2L}
2 ZIMES0| HiE 0N S0 2,4, 6 » HotA| §b= AES Hole A0|22 AMAINIS 20
e

US0| HiZ KoM &
» 01 The flags7t 3218 20|22 beSAt= areS A1
waves -eE ELEE eE

3 AR2 UE Foli AHE 2elpttt
k=2

>

11ls, riding, he is 2 is, going, is going 3 Are, watching,

— AR2 UE flo M4 ; 'm chanai h i
o I'm not, I'm changing 4 are, doing, are tying

= AN .
» Z0{ Scott0] 321 HH40|22 beSAHE isS M1, cookd|

-ingE =¢lct. 1 ADdE MEAS B AL? B: S, B U0,
4 11 "Xt AQ) LI0Joj| oS AR S SHU? 2 A4z ofhol 7122 AL?
— 11 Xz A2 LoJof| CHsh AHAEE St AL? B: = #Haof 71 RLof.
» 301 the man0| 3218 H40|22 beSAl= is5 X1, lies 3 Ardes TvE =2 QU?
-ie2 BUER jeE y2 U -ingE 22t 220|122 B: OfL, J™X| 240t L= XIg RS ZHOMYL U0
701 the manit be&SAt isQ| A12|S Hi#L, 4 A:J52 2AS ot AY?
5 Ue U g3ds 12X e B: 152 228 §1 0.
— L= W B34S 22|10 AKX Ut 1-4 » SISO QZE2 "(QIRAD + beSAt+ F0{ +
» 0] 7} 1218 0|22 beSAh= amE A1, drawd SAE-ing ~?.8| YEIZ 20 A2t Q= AZ20
-ingE 2QUCh BHE0|22 beSA am Foil notS &L st tiE2 3EY O "Yes, FOHTHHAD + beSALLE,
2HY 0 "No, FO(THHA) + besSAl + not..S &L
EAIZE U= YRR0= BE SMTAMHCZ At
B
1is snowing 2 wears 3 is brushing 4 take 5 has E
6 is dancing
A 1 Why are they cry|hg loudly?
2 XBOlL 0je orHe it 2 I'm[l am] not Iook'lng at you.
3 el X2 0j2 o ot 3 Is the baby sleeping?
4 2= Ui OFF Aottt 1> QBAPL Q= SATIHEO| OJZE2 TZAL + beSAt
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|2AF whyS £Ct
2 > RIS 2HES OIS M= beSAt HIZ FOl notS
2ct
3 > AZRATL Sl EXTIHEH RER TbeSAt + 0 +
SAHHE-ing ~?,29| YEIOICE 0] the baby7t 321%
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EXERCISE

1went 2 opened 3 studied 4 had 5 played 6 hit

1 Z0IE= R =0 3t 240,
> SAt go= EVAHCE HstolH, HAHE2 wentO|tt.
2 I 7HE ofF 2T 70 28 S,
» SAt opend UHHE openedo|Ct.
3 L= 25 oo et SR
> SAb studySl BHH2 studiedo|tt,
4 JUE AT S0 29| 7151t 2 ﬁ 12 HAUCH
» SAFhaves E7AIXCZ H36IH, U2 hado|Ct,
5 Z LEs 015 Mo MAES ACt
» SAt playel &2 playedolCt,
6 1992301 o{2A Q10| E22LFE ZEET.
» SAhit2 EREECZ HSIH, A2 hito|th,

ﬂllﬂl
_"E

1 She didn't[did not] live in Japan three years ago.
2 Were they home last weekend?

3 He didn't[did not] cut the pie with a knife.

4 Did Mr. Lee give Maria a birthday present?

1 Ol 3E o O'Eoﬂ AU
— = 39 ﬁoil =0 &

20 G-ZONE

HEOILt. OIRE 25 W=

1 ArUE ANAHE BJAU?B S, &

2 A
— = 1 00| Z= A=X] E%

.
P UBLSAZE Qe AN 2O 2HES 0] + didn't

[did not] + SAIEE ~. O Lt
4 0 Wi Or2jotof 7 MUMES FACE
— O] M7} Of2|otof A MUMES

> LBESAZE QL= BAAM 2Fel Q222 Did + F0{ +

SAHEY ~7,0=% 20

C

1am 2 worked 3 find 4 made 5 reads 6 were

1 U= Xz 10201

» Sil(now)2 HEHE LIEILEE= LIE0|2E HTHAIKE MOt
tCt,
2 Lh= 29 Mo O SS0IA Lt
> A9 0E(‘fwo years ago)0|22 AAME MOF St
3 UE o8 U M2R e FHULR
> DOl Aol hell 2= LRHSAIY JZECR, F0| o 2=
SAE SAIEYQRE MOF Bi,
4 s A5 4, L= J00A st R
» L3201 0|01?(|i LHE0| TAHAIKO|ZE, 24210| Hl=
EXE DUHAIME MOF XIAAFLY,
5 AdA= 2F FXE =0t
» SiXl(these days)Ql S&OILt BHEE= US LIEHHER
SIAIKIE MoF 5tH, F=01(Chris)7t 3213 H0/22
readsS AOF ST
|

6 O|=xt HIEl= AH0l| L] 7hE Tt ZFS0|UT
» 9] U(last year)0|22 IHAIHES MOk 5HH,
Z0{(Ethan and Betty)7t 540122 wereS MO}

A

D

1Did, sell, did 2 did, do, slept 3 Did, see, didn't,

4 were, was

U= OfF) 2212 L7 B: L
L YRIETE B2
: OFLI, BILIX| 229401, Li= 28 9i91of,
LI OfR| X0 0fCiof UALI?

_o_u>m>>

ror
o

read



1-3 » LEFATL U

DAANH 2| AZE2 (A=A +

did + 01 + SAFE ~2,2] HEZ L0 QAZAT}
g

ge o220

| CHEH CHEF2 SEY M "Yes, FOI(CHHAL

> Op240f tiet of
EAE 0| ®

=
=
ps|
=

(t

S

he next president)S LIEILIZZ "will +
=

5 Z17F LY MtE|O| EAE?

LIEFHEZ willo]

+did.JE, 25U 1 "No, =0{(CHEAD + didn't[did
not]..S £},
4 > beSAZL UE LAAF 29| QR2L2 T(Q2A}

+ 30 ~7,9 YEH= 20

E

1is 2was 3 lost 4 make 5 invited 6 drinks
7 rained

Lol OfHAl= XlZ LT
oMo 2S0|0f 2ol o
A= €7 ™o 259
HE2 UM =25 UE
HO|E= OfM| Z1o ez 2 TE & Fa =0T
2F JUs WY OFE RFE DR

OfX| OFEOH HI7F BO[ 2ALt.

> SO YEHE LIEHHEZ SHMAIRIE 225t

, 5,7 » 19| PS5 LHEHHEZ WANRIE 220

» HGHA| pi= AH S Bioh=s A0I22 SFMAINE 20
> SO SHOILY ¢

—.-__.-—.-
=
I
i)

O AN =" NOUOH~NN-=
w

o

14 ojzgax

EXERCISE

1 will paint 2 did 3 did 4 will be 5 Will

1 = O3 20 22 g HAEREE Ao,

» 0|29 Y(next month)& LIEHHEZ Twill + SAHRE,0]

HHEasit.
2 U= oxigto] oA FXi2(o) SUL?
» A9 Ulast night)S LHEHHEZ did7t ZH5HCE
3 Ue OfF off Lol Heksiy?
» A9l Ulyesterday)S LIEHHER did7t ZHSiC.
4 MAIZE7t 22| Bto| thg g0l & 2ol

I=EEE ge HEUHEZ SMANE 20

» DJ2H0f THEt 0 =(tomorrow's party)&
ZESIT

1 John will be 11 years old

2 It'll[It will] snow a lot

3 I'm[l am] going to buy a new bicycle
4 Billy is going to do the dishes

o
[ =
— &2 WEo N 2ol

= OF M AHHAE MG

— L= U3 F0 M AHAE & 20,
4 Ze= 0 2AXIE st

— Y= 25 Yo AR oI,
1,2 »=+
O2HAINIS LIEFEHTY,

3,4 »be going 0 + SAHEY O 2 DIHAIME

Of 2=9F QIF0) A0l "will + SAHEY.C2

LIRS T,

beSAt= 3019] 42+ QIF0)| M2} HEHC,

o

1 The weather won't[will not] be nice.

2 I'm[l am] not going to meet her tomorrow.

3 Will Sarah join the football team?
4 Are you going to take a nap?

5 They aren't[are not] going to win the prize.

E= They're not going to win the prize.

1 HN7HES Ao,
— M7 EX| k2 0|,
> wille] EHE2 will B2
won't2 £0 £ 4 QUL
2 L= WY J4E g Aojot,
— LU= UY 1 1% DILEX| 2 ZJOIEf

Foll not2 MA

-

» be going to £HEL besSAt
OHELY

3 AR STEO gRE A0
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=L will not2

2 FHol not2 MA|

012k willel Xt2IE o]
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— 52 ds EX 4= Aot

» be going to2] 282 beSAt HZ F 0l notg E0{A

LIEFACE, 501 + beSAL ES TbeSAL + not,g H01 &
4 9tk

1 going to sell 2 tell 31she 4 will come
5 isn't[is not] going to 6 going to leave

1 F2AE AU MSAHE E A0,
» be going to CIS0l= SAFA™S MoF St
2 He auo tids g AL?
» willo] U= 2HO| 222 =012 will2 x2S HH0]
USH, F0 FH0l LE SA= SA
3 & WY AasxE

g
fjo
=
~
= =
T
ol
N
=

T = .
» be going to7t A= 2H| AREL F:0{2} beSAe]
Af2|E HpRL0f 2HECE
4 M=Z2 40| iy 2] ghofl & Aot

» will CHS0ll= SAHEES MOF St

ox
Ao
ro
(on
(0]

ofn
=
4n
=2
>

@]

3
mjo
o
2
2
rin
o

» be going to2l &£
6 152 25 ol 1 TAIS me 2ok

E

11 will have 2 are going to visit him
3l won't, will 41am

>

CUE @5 ol §Ho=2 Roig B HL?
. L= OXE 2HE HOf,

D UE oH 5 YRS AL?
D R2E 0l = Aol IS WEE ok

tUE 25 Foil As ALY

D OFL, I X| 0L, Li= HAlsH] 2 7{of,

U A7I0l 7|2 2 AL?

18, 18 {0},

oj2iel Y2 rwill + SAHEE.0IL Tbe going to +
SAHEHS MM LIEFHCE

Lo oELHJ

IS w
vy @ > W > W > W

-
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EXERCISE

1

1~

1 has gone 2 have worked 3 have been 4 has seen
5 have lived 6 have left 7 has, told

H2l= 252 S0,

» Jerry= 301 ©0|02 hasS MM, gos 27% SAZ
WUH2AR= goneO|Ct,
IS2 02 off S Ealo] 2
» They= 3218 £4~0|22 haveZS

W7&EA= workedOl Lk,

QUGHRALY,
MO, worke A SAIZ

Lh= 3AI7H &S2t 017(0f URACE

» |= 12120|2 2 haveE MM, bes E7E SMZE
AEANRE beenOlCt,
= 1 GStE 4l H 2UCE

» He= 3012 40|22 hasE MM, see= 2728 SAZ

UHEAE seenO|Ct,

22z 20129 O|2HZE MS0IM &

» Wete 12180|22 haveE MM, livee 7& SAIZ
AR livedOlCt,

L= AAIE ARA0 =

» [= 121E0|2 2 haveE MO, leaves E1E SAR
HEAHE leftolCt,

= LIl 212301 cHal o]0] Zh3iCt

» SheE 301& H40|22 hasE AH, tell2 E72 SAIZ

IHEANE toldo|Lt,

7 » SXARY2 havelhas] + HHEALZ £2L0H

nikii=

=10 QUL

1 He hasn'tlhas not] been to ltaly.

2 Has Emma bought a new camera?

3 Have you visited the museum before?

4 Has Jack studied English for five years?

5 | haven'tlhave not] forgotten his e-mail address.

1= Ol 2otof 7t 2 X0l At
— 1= O|Z=(0f0] 7t = HO| glC.
AOt= M FHHIZHS AT

— YOt A ZHH2HE AU?

L= 1 WEBS Hojl west Ho| c,



— U I 4USne Mo Y28t Mol UL?
4 M2 59 30t F0E SHal ATt
— M2 58 S0 FOE SHof fLI?
5 L= 9 0|HY FAES UOIHRCH
— Ltz 19 0| FAE AO{HIZ|X| LUTH,
1,5 » Sixje2y 2 2HE2 havelhas] HIZ F0 notg
EO0{A] THEDH
2-4 » AAZY 2Ol AEZER YEAV} §IE 42 F0
havelhas]2| Xt2|E H}2O{ BHECE
C

1 Did you see 2 has written 3 broke
4 met, have been
1 Ui ol stuold 25 2BULI?
> THZEQI MAHE LIEHHE yesterdayZt U2 B2 TRHAK7F

Mzl
2 e AjoIct e XIBTK Ch HOl S Kt
b IPRE] SRS YS LEHIDR SR 0| XSl
3 SRS XuZ0) ZO| HRANC 1= XF U UL,
> THEQ! BHE LIEHHE last week?t UOD2 THHAIHI7H
Hzsit,
4 Lf= g2 201440] SiTt Sajs ) 032 S8 AT
> THEQI B2 Ulin 2014)S LIEFE T THARIE,
TRE] BRI A LIERS T BMRIRSES Srf
D

1 has lost 2 has had 3 have read 4 has gone

1 HiEl= Ao SAIE QO JU= Xg 24s 7H
UR| 4T
— Ozl A9 A HHHT
> IO U2 QIS IO Y AENES
2 s 2% Ho| go1of 2R Kgk 05| 22 U
— e 25 S 710 22 U,
> AHRE MK ASE LS LEHE I J=EE 20
3 UE AP I Ms HAC L= Sl 2 S E A,
— L= 1 #g (RZ7H) & ¢ 42l
> SIS Ale UEE I dXi2=ES 2.
4 HOl&2 L= Hof HA
— MO[£2 HAIZ Z{Ct
> 19 Oe'
1-4 » AXH=

=

o

A

E

1 Has, done, has 2 Has, found, hasn't
3 Have, eaten, have 4 have, taught, have taught

1 ArdUs SHE o HY?

v
[0}
Q
L
rlo

A2 AZEAME eatenO|Lt,

g ZHANM SRS TIE2HL?
i St=01E 7t2X21 01
2 WHRAHE taughtO|Ct,
1~4 » HXARY 2HO| ARE2 (Y2AD + have[has] + F0f
+ AR ~2,0]CH, EHE% 25Y M "Yes, F0(CHHAD
+ have o @ "No, FH(CHEAL + haven't
[hasn't
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EXERCISE

A

1 repair 2 can'tfcannot] 3 will 4 will be able to E=
willo|Lt can & StLt AIAl 5 play 6 can't remember

1 22| OfHiXl= XSRS 11F 4= UL
> 2SAL FOlli= SAFE™EO| 20t
2 52 M| soE 4 gl
> can°| BEXHH can't £& cannotO|Lt,
3 Lol Zlas e A0t
> ASAE F09 2 2 b HER7H HGER| Qh=Ct
4 = JHE O & £ US AO|THE ~ ALt/ & Ao
> ZEAE SO0t & 5 %O 2 will be able toZ HIH
MALY, will £ can & StLgh 220}
5 J4E Hoj2Es a3 = glth

> ZSAL FlOlE SAHEE0| 20t
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6 L= 19 0155 7|19e + gl D

1 am not able to 2 was able to 3 Can[Could / Would]

you
B 1 U 1 32e ol 4 st
11 can'tlcannot] solve the problem. » 52S LEI= can2 be able to2 HIY £ 4= ULk
2 Can he read English books? EHE0|22 besAt HIZ F0 nots 2L
3 | couldn'tiwasn't able to] fix my laptop. e R R
4 The girl will be able to play the guitar very well. » A9 58S LEE M= could E= was[were] able
toS 20t
1 U1 2Ms &+ A 3 AZE HUFAZ027?
— U= E2ME 2 + 8l » QHS LIEHE= will2 can[could / would]2 & HIHY £
> candl £EH2 can't £E cannotO|Ht. 4 Tt TE ZSA could Ei wouldS M G Bas
2 = FoHE gs o+ UL B30| =}
— J= oAz 2 4 AU?
> ZFSAE UE 2O Y22 UE M F0{2h Z2SAL
x2S R E
3 Us W EsS 1E » Qloh
— Lt U ESS DA 4 gt 1@ 2() 3(b)

was[were] able

= 1 XZ ARelE HLQ? - (a) He Was hu: .
. RERE0|E2 ZFA E= beSAt HEE Fol = |

» ~oll Eet=E 9 o7

=
A= = X Xt x| A O]
4 TAHSZIES O S8 A 8 4 Qlrrete Eo| SaS Liekict
— 1 A= J|EFE OF & & 24 QA = Zd0|Ct, ~ -
AU JIEE OF T A 2 & 200 3 U 9 4 AU? - (b) Lo 22 & JHHOEAL?
0j2fe] S22 LIERY T wi =a i
» 0j2e] 52 LIEHE e will be able toS #L1. B 4 QL7 o] QHS LIERT

c F

e 1 can'tlaren’t able to], will be able to

1 U 7}510] OfC) QIX|? Li= 728 &S 27} 2101 2 couldn'tjwasn't able to], can[am able to]
b 2o ~8 & GiCFRt FO0| XIAIARDE can't} 3 Can[Could] |

MEoitt

- 1 O] ARISS XIZ AMS & 4 @iCt. J2iLt 1SS o}
2 WA e MSHHSE FLI? ALS 8t 2 912 70|}
o =2 T M2 A
> 'Can you ~2,2 222 LiEtd = /0t 2 Lp= 24 FO| AHOIES B 2 4 iiC), JEiLt I3
3 4[0] US O{SCH LI OFRE 2 4 giry AHO|ES & 2 & QUrt
—_—= 2 2 T M
SOHAF ~BF A QICFEHS 0| 534S LIEHNS can't? L
e e GRS Kol SHE HE * 1,2 » 522 LI 0= can T be able toS 4L} 022
bSEShitn
=5t S22 LER o= will be able to2, T7{0) 5312
= [e]l] xS A Ol
4 JH= U =AY S s 2000, LIEf M= could = was[were] able to2 2Lt
» 0249 Y(tomorrow)S LEIHEZ will be7t MEsICt, 3 A: 40| SMS w2 & 927k
. — T =2 22 T M= H
5 A:Lbs oimo| g B: 2200%] 017] 2001
L} 742 M _ _
B:U 2 M=4 b 5P T8 = can 20} T8 ZEA couldS Mo

24 G-IONE



NT

17 z=a

EXERCISE

A

1 have to 2 hadto 3 have to 4 must not 5 should
6 must 7 May

1 Ue 0| Hotof st
» have to0lA haves F0{2] £2t QIE| AX|0f| T2t HEH7t
HStCt =0 Yous 22! ’SOIEE have?t ZHs|Ct,
2 A2AE= HZ0| AL, TJ2HA EIEX| Z0I7H0FEE KLY,
» 4749 QRS LIEHY M= had toS L1,
3 Ue 35 7|Che0F & A0l

A
> ZEAE G0 £ £ QIOOZ D[2{9| QR E LIEH mi=

E

Tl

|_

=5
will have toZ 2Lt
4 ZESIX|ZE 04710 FXISEAIS o FLICH
» ‘~oliME oF Efi 2= XIE LEHN= must notO]
XMH5ICt don't have toe '~& LRIt gltt2k= SE0|Lt,
5 9 2= FOE SHH0
» ‘~olof BICHEH= Q2 & LIEIHE should7t XE
6 = TS| M RIS At
~Ql =

A St

n—r

mH
_O'ﬂ
_IT\_

>

B: S20[X, & of.

» 57t 7& W= may E= canlcould]S &0t

1 have to 2 May[Could]

1 U Ho) HLSE J|osHof Bict,

» 9|2 E LtEHHE mustE have to2 HHY £ & QAT
2 GO S Bt HASLIIR

1 may[might] 2 don't have to 3 had to
4 May[Can / Could] 5 will have to

1 » ~EXE RELENE 20| gl £52 UEE Ti= mays

1 AIHIZHAMEES
4

3 ATHZEREs O Ys EUOES

20}, A ZEAF mights may2t 79 HI%Et £o2
Molct

2 >~ WYL QITYEHE 28 UEH M= don't have toS
04,

3 > 19 9FE LEHE Th= had toS 2

=
=
1712 & = may £= cang 0.
couldS 40 O 38 HFH0| HL,
=

5 > Di24ol Oo|FE LIt o

v
Ql

will have toE #£LCt,

D
1 must 2 must not 3 should

1 A: 2347t oA A
B: 2?7 = 2Y Wi ST
>~ SR e 2

LEfL = 2SAH must/t HESHTH,

2 At EXME QM= FHE O EU |
B: ZSEUL Tl 2K & ﬁ'—l'if
» ~oaliME o EffElE £ SXIE LEHHE must notO]

5|,
3 Al 2E5 50| EX| ot
B: OOtz U= &g & Xt= A0 Z30
» ~5l{oF StCh ~Sh= 210 ECHeh= SO 15 LiEUE
ZEAt should?t &5ttt
E

1 Yes, you must 2 Sure 3 No, you don't have to
4 Yes, you should

OHOF 5HLt2?
Ul JISHOF BT A2 Yo 4SS 7Y 4 UFLICL
A

— =
4 QIEE %E DE*OH thet 382 EM= musts

ol

» o 7fE Tols 2ol thEt 3FO tE2Z “Sure Ut

‘Certainly.’, Of course

B:ofHe, 2 He iU I8 WY 2WE U
—

=
» ~olof OH-fC” 2t ZE0 et 280 tEol

A: H7f LT ’éﬂrOF a8

B: g, I3 A ZUN. Ul e 12 4

» E1E UEHHE HEO= ~oi0F SiTt, ~ot= 20| ECHetsE
Ol shouldZ #2Lt.

cC
=~

0x
o
g
%
[
N
[¢,]
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EXERCISE

1 bought 2 were written 3 be changed
4 was cancelled 5 be invited 6 broke 7 be played
8 was not repaired

z0{(Billy)7t #S(buy)2l ZH0|22 SSEH7} HHsiC,

4 137 d7l= A=A

v

SEEI7H HEai,
5 &2 0] oiEjof =ChE AO0|Lf,
» Z=0{(Tom)7t
6 I2AJt H2ES 7O
» Z0{(Chris)7t &tis(break)? FX0|22 55
7 0] 2= JHE flaf A= Zoch

» Z0{(This song)7t #S(play)ol 0|22 +~SEHTt

I‘IX‘l H:l-
8 11 FHIH2 A0 ol LM Z10] OfLT.
P SSEIC BHE2 beSAt HIZ F0ll notS &L

B

1 The key couldn't be found (by me).

2 This car was designed by the girl.

3 Was the Mona Lisa painted by da Vinci?

4 This project will be finished (by me) today.

5 My computer wasn't fixed by my brother.

6 The 2022 World Cup is going to be held (by them)
in Qatar.

7 The rules must be obeyed by students.

8 This library was built (by someone) 10 years ago.

26 G-ZONE

Z0{(The basketball game)7t #&(cancel)2l t&o|22

U= (invite)Q| THAIO|D 2 AEEN7F RESGIC)

EH7t S,

v

AT ZEE $+SH= "2SA + be + BAHZALY

EE =8

I Al 0] ASAE HARIC

— 0] Xt&Ah= 1 AE0 sl HA U

> BHAK S +SEl= "was[were] + TARALS] HEHOICY,
CHIRZEZUERHE 237

— (RU2[RH= CHIX0f ofa 1A ?

> SSEIQ QRER TbeSAL + FO| + BARAL ~?,9|
SENOI 2 2H0| UHFHO|EE beSih= UHAKE
&EI—
Lie 25 0| ZRHES 2 70

— 0] ZZHEE= 5 (Lo 2alf) L7 2 Zo|ct

» willo] AFSE DIHAIHI] +SEi= "will + be + BZEALS
AE{O|Ct,

2| 7 L FRES XX LA

— Ui AREIE 22| 20l 2sH THX|K| LA,

> BHAK S +SEl= "was[were] + TARALS] HEHOICY,

IS8 2022 2ELS FIEIZ0IM JHEZ A0|Ct

— 2022 EEZU2 FIELZ0IM (2S00 2sl) 711 2ol

» be going to7t At&E OZA X<

+ be + LAEALS| HE{OICH,

5 =0 T =E=Eo X A=
SMEE 1 HAlss _'_I_TOHOI: of
o
2

:

N
(@)
il

2&H= "be going to

_O'I_
o

S/t 0] EARE 10 Holl XA
— 0] EME2 (5==7tof 2lal) 10 Fof X|oRC.
> AHAHS +SEE "was[were] + HARAL2| JEHOICE

1,4,6,8 » X7} S25HX| 42 I rby +2MA 2

C

CECIM LN

1 was caught 2 invented 3 were born 4 was bitten

w N =

H

40 S| ADRAC| B0 RLCH
Aol Ao 27|01 S 3.

1, 3,4 » AHANQ &SEf= "was[were] + DHHEAL0|CE

2

» Z=0{(Karl Benz)7t &S (invent)2 F=H0|E22 SSEIS
204,



D

1was 2 Were, sold 3 was discovered 4 be written
5 by 6 were killed 7 can use 8 be delivered

1 O AREl2 X ®RLI?
> QBAPE s £EEIQ YRE2 TORAL + beSAt + FO
+ B7ARAF ~2,0ICt, F0{(this picture)7t 321& H=x0]1
THAIRO|EZ beSAtE wasE L1,
2 SEHIERL?
» SSEC| OZEE "beSAL + 01 + TARAL ~?,0ICH,
Z0{(all the tickets)7t S0|22 beSAt= wereS £Lt
3 3H0IM SO0| AU
Z0{(Water)7} eis(discover)2| tHA0|22 S=ZEHS 201
22017t 3217 Hh2=0|0 HAAMIO|ZE "was + LHEAL
£C}
4 1 HX|e m2lof s 2
» be going to7} = 2H<
+ AL HEHO|LCY,
5 0|37t 22| otof 25 PSR
SSH 20N AR F0IX| HE e Toy + XS
&El—
6 LCHAX O ARO| & FTH 2FIX0l ool ZYS FRLCL
» Z0{(Five people)7t &= (kil)2l LH&0|22 »>SEIS A0
Z017} 321E S40(0{ HHAHO|ZZ "were + THRAL
o
7 2 0I0|E0| QHUE ArBE 2 UCh

» Z0{(Many children)7t #S(use)el FH0|22 SSHE

A

i

Z0]Ct,

+SEH= "be going to + be

-

uf

=20
8 1 AM=Z2 UHY OFEO| B 0{0F SHr.
=S HEE SEH= 'E2SA + be + HARALY

REVIEW TEST 03

1@ 2did 3is 4@ 5@, ® 6 Are we going to

7 Was the novelread 8 @ 9@ 106 1@ 12@
13@ 14D 15@ 16 @ 17 have seen[watched]

18 ® 19 ® 20 was broken 21 going to be cancelled
22@ 23 @ 246 25® 26 ® 27 @ 28 ©@

29 (1) must finish (2) can be seen (3) will be washed

30 (1) ® you are going — are you going (2) @ hasn't
read — haven't read

1 » @ stop BAYE stoppedo|Lt. "HES + HAZ,02

Bl SAs A28 8 O M1 -edS 29T

2 A= oo 2%

B: Li= %312 &2 740,

b DE712] oj Thef i, ARAPF Qs QJRR0|DR rOIRAL +
did + Z0f + SALRIE ~2,0] HEH} S0{0f BTt

02_

3 A:d=XE
B: &= 19 717
> Xz 2l S Lo

TO|2At + beSAL +
|0j0F BHCF. 017t 3
T oI

40
»Q
o
oo
oN Rl
30
T
N

AL QUE QBR0|22
SAHEE-ing ~?.2 FEYTL
2 heO|22 beZSAt= is7t

I
2

=
:‘og
+ THO
r
10
Ho

ro
Nl
0

4 @ A: ol LIS MSpiRiL?
B: Ok, F 3H0f.
@ A: OfH| ofTioff AUAL?
B EAZOf UNAOT,
library =A2
@ A: MF=0l 7t 2 X AU?
B:ofY, 7t &2 & 3ol
@ A: =ZI0l= H710f ofEA & AHY?
B: Il X[BHHE 7401, (— Jli= X|sHEE 2 7{of.)
subway X|oHd
® A: O FZO| 2AS F AHY?
B: L= £XE & 7oL
> @ 024 Y2 B M0 AAHYOR ot A2 oMo,

(went — will get &£ is going to get)

5 how long 0Lt 224
» 0|29 Y2 21 U2EZ will E= be going toS Lt
O|ZAPZL U= DIAINIS] S22 FO2AF + will + F0f +
E= "ZAL + beSAt + 0] + going to +
SAEE ~?,0ICt

|
~7,

A

0x
o
g
gcl
[
N
N



10

n

12

13

28

Z0{2 besAY

9| tHE2 don't have

> @ rides EEOZ BI5H= SA0|L. (ride-rode-ridden)

® ® @
S g
moS ov M0 o
o © mo o9
N
“Jl'qoﬂgﬂm
a i
Lo

x 2

(0

fu}

o)
o
3
o
o
(o]
o
S
=

I
2 &

® U= Xz W gARRIFOA HXIE 20 QICt
» ® MTHHL TbeSAF + SAFREE-ing, HEIZ L0 (am

write — am writing)

® 2= 222
@ U D28 &X 5Kl 42 Zoldt.

@ JUE LA 23l MEs EiFX| g2 A0l
® 2= 0AY F7 F7IE EX| U,

» @ will notel EYZ2 won'toICt. (willn't — won't)

139l 2= 220 EX| ¥= A0IC
4 SAt 2 Fo0ll nots WA

1 U2 ol ©JaH SSHR|IX| QAULC,
1 Fst= 100h HAES AN Q17|74 AL
teen 1001 HAH
@ F7|50| LEUM T
@ Y A= A ZHFARL?
steal EX|C} (steal-stole-stolen)
® 0| M2 7 =20 o PSHFLI?
farmer 58
> @ beSAt Qe SXAIKS SSH 200, LHX=
TbeSAt + WAL, HEQ| ~SE 20|

G-ZONE

14

15

16

17

18

19

- D= ANYS 5k U= A SO,
L= B 10AITHRIS Zo| 94OF BtLt,
ESA mustoli= '~Q1 | SBYCIH= Y8t EHA0| H

= O HA
£9| S} '~ 3l{0f eith2kE oJF 9| 0] QUL

v

HE =2F + UL?
® 2E20/X. @ =X 0l (B20IX) ® 3, 4 2&A s
=, @ S20IX|. (GH5HA].) ® DIAGHX|ZE T = ¢f

» @2 Yes, you can.'2 &17t2 2= =22 ‘Can |

~?7(~ali= 27R?)0) tiEt 32 T

:.:
o
=)
in}

® J= Eof| 7toF & 20|}
XEA FOlE SAHESEE 20 (will has to — will have

@ Lt L U2 2R 4 S HOITHENS 4 Ut/ 2t

» ZEAHE ¢10]0f £ 2 giCh (will can — will be able to
= willo|Lt can & oL AA)

(cans do — can do)

» SRS BEg
AR S Thavelhas] +

LIEHHD Yooz sixjez
ALY HER2

s 2.

=8

[27]] He o7101M T3S Ar85tH ©F . (517F)
O Ul ZA2(7t S2IX] Lo}, (53
@ Je &2 27t gl )

@ Of7|0i F=XISHAIH oF FUCt (517h
@ 1= 3015 LotK| Rett (58)

® L= ot glol= = = gl (53)

glasses 24
» [27]]2 @9 can't= ~otH ¢F ECi2h= 528 LIEMHICE
® W7t 1 #E ofjojsHor S ?

book 2; *0fl2f5tCt

» mustE have to= HHYE 4 QUL
@ Lh= ANAHE & 2= ULt
» can2 be able toZ HHHE 4 LY.
@ Hie MEE Atgdiiie oF EL
-Ue M’S% M%%* It gl
o EICHEX|)'2H= =0\,

=l don't
have to= ~§ QT YtHEER) 2h= SE0]Ct,



20

21

22 -

23

24

25

@ 1 TE|= 2% 6A0] & A0|Tt

» will2 be going toZ HHHE 4= QUL

® M7t K70] etot= EMe?

» may® can2 ZF 5{7t5 LIEHE = T}

HL7F 11 HAIE THERACE
— 1 ZAl= 2ol ofa TR
plate TAl
WANHE +=SEi= "was[were] +

WAZALS] HEHOICE,

OS2 I oES FAE Aot
— 1 IE= Fa

rl_r
Mo
0

» be going to7t U= 29| +EHl= "be going to + be
+ WARALS HEfOIC 27 20 #AKES LEi= by
themO| eF=| Ut

SFSHRICE,

4

44 of

0= B2 UefolA 2
Oi(English)7t S (speak)ol tH0|22 TbeSA +
PAZALS +SEE 20
- L= A 1'—1 oF A=E A0|L?

PA

=
» 02| AEg 2& ZO0I22 be going toS £LC.

=l

Bt SUE?

3|2

QU
@ He =H
do one's homework =X|5tCt
@ UHe 25 A HAt2lof EU?
@ He AsAtE 29 = A 2 7ok
® L7t XIZ J2H0|A AttshoF &7t?
apologize AfksiCt
> @~ 4 QCE=E £9| be able to7t MEGIH, XA
will F0l 2B2 SALY beE £Lt LIMX|E 25 do(®,
@g ‘stiets 9 YBtEAL do, @, B YRES MEE

do)E 2Lt

@ = 0/=0i 7HARILCY,
@ X stto]off 7+ 2 H0| QUL
Hawaii 5t2t0]
® L= 5487F QU= off 2ot
@ Lt= 14E 2010 Of2H2 7% 20 X|RICH,
L= Odl 1 Z2HEES Al’iﬁﬁﬁf.
» ® yesterday®t 20| FHHQI WAS 7t27|= Y2
xRt A £ 2 it (have started — started)

M RS AU?

A Tl = AY?

oLt 2 ¢7(0f AUALI?
013201 UKALH.

OIEES
@ s
® U=
@ Wk 20134 5B

26

27

28

29

30 A:E et &
[m] k=1
=

® = Of%| Fl AAE BUiX| RJICH
> O BAHAKS YBSA QIZEE Did + F
~?,0IC, (bought — buy)

0f + SAH

@ = MY AFIE St
w80 7t 2 & AU?

@ L= HRE HYS ot Qloh

@ H BEg A ALY
U2 AFZS0| 11 OJHIE0] RINEQACE

» ® Z0{(Many people)7t #s(invite)2| 40|22
2SE7} =[0{0F B (are inviting — are invited)

@ He 0471011Af Z=&3] aHioF Bttt

@ HAIZHE ZZAH 7HRIL?

QL= 7IEE 4 W 2 71OIEf

@ 11 gsh= 11 HiR0H 2la

® I 72t BM AlEE 4= QILt

> QMR EY B AZEL "Have[Has] + 01 +
WHEAF ~2,9| HEHOICE, (Does Jessica have gone ...?

— Has Jessica gone ...?)

L= X2 I 7t WS AHSotd QO

> UXMSH MEHZ LIEHLHE SAHown, want, have, know S)=
TIHAORE MX| 4=Ct

(1) e €edo|n, J222 e Stulof 710kt sttt Hie

SEfZ MOF BHCL
(2) EMLIRE 11940 4% ALO[0] 22 11|$Er BE )
[e]]

bloom £0| T|Ct

» F04(their flowers)7t &=(see)2| HAO|Z 2 £SEHE MOF
SiCY,

(3) 2 Xt= FRA0A] MIXHE Zi0|Ct, O|HL TE9| TITZ0f|A

F=20|Ct

gas station R4 / customer 1124

» 0{(The car)7t &&S(wash)Q| THef0|22 $SEIS MOF BiCt.

. o *
B: &t e A
[e]

» (1) ® Y2APt U= be going tol] ARE2 TRZA +
beSAt + 01 + going to + SAHE ~?,9 HE{O|CH,
(2) @ Z=0f 7} 1QIK0|22 SHIAZ SO has?} OfL2t
haveE Mof STt

0x
i
g
gI:
X
N
0
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19 =ssax

EXERCISE

A

1 useful tool
3 careless mistake

5 foolish questions

2 strange man

LT
4 something bad
T T

T

6 anything nice

T
7 Those drums
T
0 HIEI= 2 Hol At
1 Qe 288 TR0t
2 OB YA 8 ooz Sojzic
3 %S Bxofs At
4 1SS Um oot wgc
» something@t 20| -thing2=Z L= L2 At HoilA
TOZEL}
5 1= oj2iMe mes
6 Ol 2T T2 T2 WoHK| Lt
» anythingdt Z0| -thing2 2 ZLt= U2 A} FOj|A
TO{EL
7 1252 U 39 o/
b SBAKZ MO|= THEIAF Those?} SI01 LER.= iAp
drumsE RHZELCL
B

1short, O 2 terrible, S 3 angry, S 4 sweet, S
5 famous, S 6 sad, O 7 interesting, O 8 fine, S

s 00N OO AN =

2~

Mets 2F Aol Mg BA RARIT
L= 0|HE Y& 4 gl 242 S5t 00| HLf
= = 2. 2 Lol Y7
HOE F71E gl AL OAS2 E58 MMIF T
JEE 19MI0 RECHALY. T2H= OH T CHERE 20T

152 UE 5/ ofX2t HE OlSEH
L= 0f 20| Ot HRUCH= A
L= OfA| OFL. 2= L B
, 6,7 > AL SARE X0 FHOA SHOE 25 2F0l2
UL
5,8 > HEAIL SA

30 G-ZONE

C

lany 2alotof 3 many 4 some
5alotof 6afew 7 much 8any

1 O 27 AY?

4 9—|T'__T'__O|D§ T2 BYZ20 220 X0l any/t HEoI.

HAF moneyZt OI0XIERE, 4 £ U=
= FAL A0 HF M0|=
| ACTH (T It O] Lt
YAt fans7t O[OIX|Z2 M & Ql= AL
MO|= manyZt A,
4 U= oM 2 Ee CDE AT,

> SFR0IEE T2 SFE0 X0l=
5 ZE2 W MNA ¥2 TS 2L
U= BAL coins?t O|HXIE2, & £ QA= HAL
el YA 0| 2F MOl a lot of 7t EHsiC,
6 Lh= @5 OrgElol 7tel ERs HRULH,

{ =]

some0| MZEGICY,

> FHOll & 4= Q= HAF donuts7t O|XIEZ, A & Q= HAL
Qof| M0l a few?t HESICE
7 YHIE S TO| DRAX] =0t
> Foll & 2 gl GAF water/t O|GXIEE, 4 4 Gl= BA
Q0 M0l much7t HEaiTt
8 <RIz £2 gk MX| LUCH
> BHE0|22 2 EHEU Q220 A0|= any/t XEGIY,

D

lafew 2 little 3 few 4 a little

1 Al Uz BEHEE JEX|D L
B: 8, L= gtatso] & 01,
» afewe & £ QUE HAHcomic books) 0| M0 25
LtERHD ‘23 Ui, ofrtelaks ok
2 A:0[H G4E0] 7t 2] 2t 2]
B: S0t R2l= HYU= 7t & B

» little2 & 4 @l= FAHrain) A0 A0f LS LIEHHD 72
2O 0|t
3 A: EEOH A7t 0] AL?

B: OFL. RE7F A2 Gl04.

» fews A = U= BAHcars) Holl 40| £S5 LIEHHD] 719
Y02t FHY oIt
4 ArY FEE E2AM ALRIS KAl AHL?
B: I8! I AHRINE =25 & & Y=
» alittle2 & 2= 2= FAKSpanish) Yoil A0 & LIEHHD
X2 UE, AToreE ol

a lot of 7 MEaiTt,
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20 =x

EXERCISE

1really 2 carefully 3 happily 4 gently 5 enough
6 horribly 7 heavily 8 early 9 badly 10 quietly

1 real ® 2Ol / really ® H=
» real2l RAFHE HEAl -lyS 2901 HEHOIC.
42 / carefully ® Fo| 2/
» careful®] 2AREE2 HEAO| -lyS 2¢I HEjo|Ct.
/ ha

2 careful @ F9| 2

3 happy ® =&t/ happily ® #5517
> happyel SARS BEAS y& i2 HITD -
HEHOICE,

=
=2

i

y
4 gentle ® ZHEE 2R / gently ® CHEoH; 27
» gentleQ| HARY
enough ® &5
» enoughE SHEALRL 2ALS] HENIH 2L,
6 horrible ® B®3t / horribly ® B&/GHA
> horrib|69| FAIY2 HEMOA S i
SEfO|C.
7 heavy ® 2712 / heavily ® 2|, 45t
» heavy?l HAREE $8AtQ| y& i2 HIRU -lyE 20
SEfO|C.

5 enough ® &3t

-yE 22!

8 early ® 0|2 / early ® YH

> early= ASARL SALS] HEH7H 2L
9 bad @ L2 / badly ® L7, 45t

» badQl FAFS A0 -lyS 221 FEjoICt,
10 quiet ® £8%t / quietly ® Z&3H

» quiet] RARHS HEA -lyS = HefolCh,

B

1 quite simple 2 plays the piano very well

3 too short

_'?_
2 HEMOA eE i1 -yE = HEHOICE
/

4 Sadly, our team lost the game

T

5 almost empty

L 7

6 come here soon

7 Surely, he will pass the exam

8 Spell your name correctly
% =

0 110J07|E e AL,
13 sizme M 2
P HAF quiteZt HEAt simpleS §A0IA FHEC
2 J4E motcE 0fe & FC
> 2AbveryZt 2AL wellS §0IM, £AL wello] SA playss
FIOlA] FO{ELCE
3 (9 ek HF UL
> 2AbtooZt &AL shorts A0IM FHECE
4 £UJ& 22| Ho| Z7(0fA FLt
» £AL SadlyZt 222 o ol 2 MAHS FOEC
5 1 gk 719 H|0] AU,
A almost7t @EAF emptyS H0IAl ROEL
6 1522 07|12 2 ZAolch
» 2Ab heret soon0| SAt comes FOIM FHECE,
7 BIEA] O= AIE0| S2HE Aol
» SAF SurelyZt 229 8 YoM 2% MHS ROELL
8 U 0|59 EXE H&s| Lol
» HAL correctlyZt SAt Spellg F{0IlA FO{ELL.
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1well 2 good 3 easy 4 easily 5late 6 lately
7 hardly 8 hard

1 Li= ofxigol & ot
> slept= 2012t B0 MX| Qb= SAO[EE SAE RHE »
QUeE BAL wello] HEEiCE
2 JZ2 WA £ &4, (A £2 MZolof)
» sounde E0{2t EH A= SA0|ZE, 20| GBS & 5
U= AL good0| MESILY,
3 O =2HM= 29 =elct
> seem= HOQ M M= SA0IEZ, 0 HES &
U= HEA easy’t HHEsICH
4 J4E O 2 4XE g2 &0 S3ch
> SA liftedE FHOIM PHFE= 2AL easilyZt HEoiC,
5 dil= 25 ool = Yoo
6 Li= z/Z20| I 8fE8te YWES Mo| gict
5,6 » 2Al latee ‘=7'2H= 5011, latelys ‘220l'2te
550]C,
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1seriously 2 loudly 3 beautifully 4 safely

1 O= M2 Y2 ChEct
» 2Ab seriously?t #EAt hurts Y0Al ROZEC
2 e QFEet 2 A2|2 S
2At loudlyZt SAF rangs FHOIM THELE
3 U W QI0lM OFSEA AAI0IES ST,
» 2A beautifully?t SAt skatedS FOIM FOECL
4 52 s Ze 2k

A} safely?t SAt crossedS

OIS EA
t
FlOIA FHELD

E

1 often gives me good advice

2 My sister is rarely sick

3 Jim sometimes stays home

4 We will always remember him

5 was never ashamed of my mistakes
6 My aunt usually opens her store

7 They seldom met on weekends

1,3,6,7 » BI=RA= UHEEAL A0
2,5 » BI=EAE beSAt O XIS
4 > BIERAE ZEAF
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EXERCISE

1 worse, worst 2 sadder, saddest

3 prettier, prettiest 4 more popular, most popular
5 more beautiful, most beautiful 6 more, most

7 faster, fastest 8 more dangerous, most dangerous
9 safer, safest 10 less, least

([l

1 » bade SMEHCE ML
2 »THES + OX2,02 L= A REA=

=20,

BIoNEIPN =

m FII'
mjo

SHEH O M1 —er E= -estES
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7 > RO Z2 HEAEAH FHoll -er E= -estE EQICH
9 »-e2 BL= HEAMEAHME r £ -stE 2QILH,
10 » little2 SRAIHOZ HaISICH

B

1(1) heavier (2) less heavy (3) as heavy as
(4) the heaviest
2 (1) The highest (2) as high as (3) higher than

1 (1) ¥e ENLELt H 24t
b B} O ~BHBHA|]0|2H= S20] E|0{0F 5122 HimE +
than + Bl Ch&H,S 201,
(2) EVle YECH g 240,
» - HOHE ~SHEHA]0|2Hs S20] H0{0F SIEZ Tless + 5
+than + H|1 CHA,S £CF
(3) dAHRE LTUE 2L

» B ~BHEHAT0I2h= 50| =|0{0F SIER fas + HF + as

ol

+ BT TS 2L
( ) INEE 25 5 71 24
B0 7t ~SH{BHAIT0|2H= 20| E0{0F 5tE2 Tthe +
FYE + of + YolLE Lot
2 (1) A B0A 1R B2 A2 ofH A0,

> B0 7HE ~BHSHA 012t £20| E|0{0F StEE "the +
2MT + of + HeLE 201

(2) HALE2 OHIZHAERIS =X| 9L}

> BIE ~GIR| A2[R4A]0l2k= 20| =l0{0F SHEE "not +
as + 5 +as + H|u &,S 20

(3) WAL HOMELD O =L,

» HLH O ~SHoIA0]2k= £0| E/0{0F 5IE2 TH|ug +
than + Bl Ch&H,S L0,

1shortest 2 expensive 3 most interesting 4 better
5 biggest 6 more difficult 7 famous

1 U= Blo)A 7|7} 7FR i)

» 0l theZt L21 HO|l Min + &
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> 0|l theZt LERDT HOfl Min + ©QI7t LRe
Z|lgaS MoF Btk
6 O] HE2 MAECH 2N O of2g] 2210}
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1 less important 2 bright, brighter 3 more
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1 the busiest 2 more tired 3 as hard as possible
4 not as sweet as
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O Y5 25H A= 2ol
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EXERCISE

1 (at Sinchon station) 2 (beside the tree)
3 (between Jack and me) 4 (out of his pocket)
5 (into the cave)

0 Lk= W SOiXstE 78 otofl ALt
1 e AEY0IM e Z0I0k
> at2 ~0il(M)'2h= SE0IM, MXIAE at Sinchon station
SAtare going to meet2 FHFE £AF AES i}
2 O52 LR o ¢ ACh
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1in front of 2 by 3 from, to 4 out of 5 down
6 around 7 across from 8 under

» in front of: ~ 0

» by: ~ Foil

» from ~ to ... ~8H 7K
» out of: ~ Bfo=Z

» down: ~ Ot 2

» around: ~ ZF{0

» across from: ~2| LMo
» under: ~ Of2{0f

W N O 0B b W DN =

0x
o
g
gcl
[

33



C » Tor + THEQI AlZES| 20| ‘~ SF0|2t= SS0|Ch
4 I TO|X|z 72 EHeX UKACE
Ton 20 30 4under 5in 60O > Twith + AI2,2 ‘~S JIX|'BH= =0|C

5 Ui TN 2ol 2ot UY?

1 JH7k AcH OfRNOIA KEL AT — JH7H ACH SIOIA] Xk SUC, =7
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REVIEW TEST 04

1226 3040 5@ 6D 7@ 8less 9 careful
100 113 12®@ 13@ 146 15@ 16 ® 17 between
18 during 19 after 20 for 21® 22 Alex 23 (1) Eva
is the tallest of the three (2) Alex is not as tall as Hye-
jin 24 @ 25 more 26 @ 27 @ 28 doesn't have any
sisters 29 complete this project by, Monday

30 on the morning — in the morning, fastest — fast,
carelessly — careless, many — much

1T OMEAHR @ EM @ & @ HEE © AE
> @ FAO|LL LIHAI= SEAOIL

2 OXNF Q00 O @S © X&F
> O YEA0[A LHAI= FALOIT

3 » @ hot - hotter - hottest
® many - more - most
@ easy - easier - easiest
® short - shorter - shortest
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@ A 9o HE L Zio|ch

Q@ 2= F AlZH S0t 0 E FHLH.

@ 721 H2lE 71 o A4S Bt
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R 2H7EAY?

® L= B2 XO|U= 0|0F7|15 SAUC.

» ® questions= & 4 QU= FAOIZZ much Hidl manyLt
a lot of, lots of S0| 20f 3t (much — many £= a
lot of, lots of)

@ Me m2|2Hg &K eAct,
fly 2

@ 22 IZ7|2E0 O

@ H=0|= SHO|LCH F 2| S,
turtle 71501 / snail 20|

@ m2le T72|E0 2 o BT

® IN2= 71 AR |4 S20I0.
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ZL. -one,
-body, -thing22 ElLt= U2 A} Foil M LHEL,
©®2] famousi= F12 HAHpianist)& ROF1, L=
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F0 E= SHOE 25 2¥ots 20| & it
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> A0l theZt QL1 F O HQIS LIEILE B30| leEs
Z[MZ0| =|0{0F St (larger — largest)

@ 1 M2 AMHPE S0

dictionary AtH

> as + Hg + as + Hlu Y 02 ~SHEHA]
(thicker — thick)

@ 22 o{H=CE & SC

» cold9 HIW =2 colderOItt. (more cold — colder)

@ 0|A2 MIAIOIM 7HY QefE LFO|Tt,

» old2l 2452 oldestolCt. (the most oldest — the
oldest)

® Lto] ZFE= l A= W o E0
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> toE AT HEAKE HHAL somethingS FHFD
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1 want to travel 2 is difficult to speak
3is to be 4 told me not to play

1 LH= © MAS of3sta At
b toRHATLIF At w
2 AHQIOE Yite %L
b 7401 Ito] 2 oo
5|2 0|t efolct,
3 U 2EE 27 2APH EE Folnt,
NI} 70| My goalg 25 M3isis 27 Hojz

F
i

v
= g
e 4o
ox

Ho
o)al
I=)
Il

4 F0t= LA =2l 7|BHE XIX| Zatd 2ok,
» toRHAIRIE SAF tolde] SX0] meS BE HYol= 5%

202 MOl SHO|TR, TF0f + SAf + 2H0| + toRHAL
o

SHEf2 20 toRYAS| 2HH2 to U0l notE MA RFEL

38 G-ZONE

E

1| decided to write in my diary every day.
2 She wants her husband not to smoke.

3 My parents expect me to be a nice person.

4 It's impossible to get there on time.
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» SAb wantse 2X0{ her husbands 25 4
HO|Z toRHAIIt 240F 510, toFFAS
notg MAl ZHELE, (to doesn't smoke — not to

22| EREHME WIHE2 MZ0| =7IE 7IiohCt

» expects 2% MAHQ SA0|2Z toRHAL HEf7 = ot

4T o
nx
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ol

rir

o 1o
1z
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moke)

0z
S o2
= 1o
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w O
HS
=

Rl

Eth be 0[3H7H 2X0{ meE 25 HYol= 5524 207}
=|0{0F BIE2 SAF beS toR AL FEHZ MO BHCY, (to
expect — expect, be — to be)

HAIZHO) R0 EAf5H= 22 27HsStH.

» 7EE01 1t0] 2F A0 L1 TF0P7E 2F 2 0|53
EHOICE TFOI= toRFAT FEHZ MOF BiLt.

(get there — to get there)
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EXERCISE

12A 2 #8AF 3 BAF 4 H8AL 5 BA

&= i< gt

> HEA easyS THFE= EA HES FHCE

2= 2= 2 4ol gt

> A wayE NHE= H8AL AL St

22| 2 HAE FI| 2la HUL

> toRHATIE BAF Aetg 5t ~5t7| flof, ~stH1et=
EX9| S5 LIEHACY,

L 7ol Big SAH7EIE ULt

» HiEA} somethings FHFE= A8 IEs it

J= 745D S HOtM #E=51ct,



b oS HARRTE 2AF S B0, UBS LIEHAE HEAF
happy 101 401 ‘~3HA|, ~BHLI'2Hs §I910] £ LiEf

B

1 something to make 2 someone to fix her car
3 lots of homework to finish

4 too full to eat the dessert

5 in order to finish the report

1-3 » YA FES St toR ™A (H)HALE FHOIA FOECE

4 > ~op|of U=R - 5H0l2ke S LIEHE D= Ttoo + HEAL
+ toRYALE £

5 » 59 =g 2HS| 57| 2ol toRHAL Y0l in orders
=0|7|= Bt

C

1too 2 to pass 3 rich enough 4 time to think
5 glad to be

1 H gEMe s LS of2it
b "to0 + SHBAL + toRHALE ‘~BH|0] LI - BH0jaks
2 LERCE

2 JUE AE0| #Ha1] Sish g

> ZHY SA HHO| Ot FA f‘f‘.%*% afi0f o= !X|0|122

toR ALY °*EH7P HEsi,
3 ddgXe s f7|01|§
> THEA + enough + tof
~8F0j2k= %8 LEHHCE
4 L= 0] el dzheh Ajlzto] &
> HEA AHS Ol= ¢
FHECD.
5 Li= U9l TIFL0Af 7|88Cy,
» S UEtE ¥&AHglad) 712 toRHAE
~otL'2h= 58 LIEHHTY

O_L Hr
ol
rIr i
30
3!
o

oLt

2o
toR &A= HAKtime)E FoilA

A,

D

1 happy‘/be 2 hardVread 3 surprised‘/hear
4 booksVread 5 a visa'go

.
» 48 l—fEf L= 30 Ahappy) F19l toREAb= "~5liAd,
LHC|

_,_

1 032 S LEHl= ¥&AHhard) F2 toR HA=

E

» ZHE LUEHE @8AHsurprised) F12f toRHAb= ~oliA,
~ofL'2t= 8 LIEHHTE

Ojok= e MES & Zioltt

> HEA FES k= toR A= HAlbooks)S Fl0ilA
THEC

L0l 717 {IsiHA HIX7F Qs ?

» toRHAto go to Japan)Zt ‘~5t7| lel, ~stE'el=

1o

Mol S5 LIEHHLDY,

1 He is too weak to lift the box.

2 This washing machine is easy to use.

3 Do you have anything to give me?

4 | was shocked to see the price tag.

0
1

Bl oA} E)7| s FAIS| 2SI,
7= 7 ARE S700f U ofsict,
HALE ‘~B1710) 4R - 3H0jaks

> "too + HEA + toF
S5 LIEHACH

0] ME7|= Ar8at7| &Lt

> toRFAL BAL A SHH H1 0229 HEE LiE=
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EXERCISE

A

1 | like making[to make] strawberry jam.

2 Filming[To film] movies is exciting.

3 | don't mind doing hard work.

4 Reading[To read] comic books is really fun.

0 Uit ofto] 1 m203s F30,
— LI OfIg0) 1 D203 B 28 S0,
> S enjoy= B2 SUME Lt

1 L 87| Mg St

5
3 U BE u2 Jfelw ey,

— UE 8IS 2 e 22 M2ix) oer

> SAFminde SHOIZ SHAE 20}
4 orEe H TH0IC)

— DHEHS 9l e I AO|oUCt

b SATE 20N BAKE F012 AU 0= SHA(ES

toFEAY S 0D} e

2,4 » FOI2 MOl SHNT(TE toRHAT= B4 FB B
B

1 cooking 2 producing 3 listening 4 is 5 drinking
6 cleaning

1T W IUIE "%%M%Sasrhaom.

» HX|AKfor) Flof SAL7E 0|01 M= SHALS] HEIR MOF

B,
3 WaAL 2 Zof & #S FoRI
b SA lovels SHOI2 STYM(EE toR AN 2T
3 9F E6K 2O,

40 G-ZONE

6 Ui YK Ul Y Yashs As S0kX0F

5 1 gXNs & 0s A8 1S Aot

> SAquit2 02 STAE 0.

e
o

» SAtfinish= 52012 SHAIS 20

C

1being 2 todo 3 goinglto go] 4 Wearing[To wear]
5 havingl[to have]

L= OF £01 EXF AUs A PR

» ZIX|AHof) FloIl SAZHOI{E W= SHARS] HEHZ MoOF
Bt

He= ot =0 RS & AHIEo|4?

» SAFplan2 SHOZ toRHAE 20O

U2 R0l 7h= A AR

» SAF hate= SX012 SHAEE toRYANE 2T

MBAAE 7= A2 =0 B0

> SAVEEHOIM BAMY FOIZ MY e SYAHLE

toRHANC| HEH7t =|0{0F BHLY.

1 Washing[To wash] your hands

2 walking to school with my friends
3 to be a movie director

4 showing your student ID

22 4 2L YK 42 Weolct

> SAZE YOI BAKE ZO0I2 AU M= SYM(EE
toSHAS] SENT} FIOIOF BHL,

L= ZIRST 8 S1T0| ZoP7e 22 E70

> SAF enjoys SXOIZ SHAS 4t

L= O1R7} Yeizt=0| 513 4t

> SAwants SHOIZ toRHAS 2Lt

MBS HOIZOZM 10% BRI WS 4 L.

> FAXIAHby) FI0I SAHOIOX T STAS| HEN2 MOf
Bt



E

1 His job is selling[to sell] cars.

2 You can't avoid meeting her.

3 Not eating fast food is a good habit.
4 Can | lose weight by doing yoga?

5 |I've decided not to waste money.

2 UHEIgs MusEA
» SAt avoide SHO

_uj_,\

3 TAERES 9X) ¢4 Z2 ﬁﬂjol
» STAY 2HHE "not + SHALO|CH (Eating not — Not
eating)

Io

4 QUIE YCEM HE ¥ 5 USN

» HXIAHby) IOl SAZHOIOIE = SHAL] HERZ AOF

$tCY. (to do — doing)

5 L= =5 dHIaH 2712 243Ut
» SAb decide= SEOIZ toRHAIS 2Lt toRHALS
2HYE ot + toFHALOICL (not wasting — not to
waste)
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EXERCISE

1stolen 2 melting 3 hidden 4 rising
5 wanting to become famous 6 taken in 2015

0 14WSS 572 51 Utk — 575D U A4S
1 WAASE =IO — W 2L A
» stolen2 SAf stealQ HARMZ, "EHHSH(45)0[2t
2 LIEHHCH
2 w0l =0t - 51U =
» melting2 SA melte] SMEAZE, ‘=1 Q=" (TIg)olat

1M BARE 524 012 1) T SRAHEE

5 AHE2 REHAVIE B — REHAVIE Hot= MEE

» wanting® SAt want2| BJIHIME “Hol="(58)0l2k=

6 1 AMEIS2 201520 B — 201580 el AE
» taken2 SAt takel HARAIZ, Sl (=5)0|2k= %2
LHEFEHCS

B
1 baked 2 leaving 3 lost

1 O[A2 2t T oI},

> 2AL ROFE BAHbread)?t #S(bake)2 tia0|22
+&5 UE=E UAZME 20
2 22 2% 200 HUE 7IXE =50
> 2AE ROZE YAHthe train)?t &S(leave)2l FX|0|22
s&5 UE= SMEAME 20
3 O Yol JHs ottt
> 2A ROFEE HAlbag)7t #S(lose)ol 0|22
55 UEHHE BARAE 220

o

1amazing 2 told 3 barking 4 interesting 5 driving
6 laughing

1 L= =22 225018 /UL

> 2AE ROIFE YAlfireworks)7t BoHo(amaze)
ZHO0|IEE 58S LE= SEAE M A S|
2 (Mo#Eehe d MAXCR LsX|=(X6Xl=) 0]0F7|0|Tt,
> AL FOFE BAHa story)7t dS(tel)Ql tig0|22
S55 LEE UARAT HESIC
3 L= He oHs0] 240
> EAZLROFE BAHdogs)7t #E(bark)2l FH0|122
58 - &S LE = SEAE HHSIT
4 Ui 0] gAOIENM SOI22 7IMES e & JUTh
> 2AE ROZEE YAHarticles)?t s (interest)2
FHO0|IEE 58S LIE= SEAE M A S|
5 X5 26t X7t Helo] Haf 2k
> 2A} ROFE HAThe man)7t &S(drive)o FH0|22
585 LEE SEAH HE6iCt
6 U= N Fo 1 U= AlHTHEOIL?
> 2APEHOIFE YMthe gir)7t @S(laugh)el FH 0|22
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1 broken 2 arrived 3 shouting 4 written 5 dancing
6 standing 7 talking 8 seen 9 signed

1 H2 2AT QM IR

b RAZI0[2HE £50| £0| H|0{0f SIE2 ARALS 2L,
2 Ok o oo SAHC,

b HMHURHOIZZ haveSAL S0 HHAZAIS 2c}
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> STTIBHOIDR beSAL HO FAURAIS 2Tt
8 Ut SIXIZ st 5 oS 2 Xo| JL?

> SR HOIDR haveSAL FI0 THSALS 4t
9 1 RLIES 1 MAS0) o3 ARl EIC

b +SE0|D2 beSA HOl IALALS AT

E

1a dog named Sparky 2 carrying a heavy bag
3 watching the exciting game

1 » named= HAZRAZ £52| £& LEMHCE ZA0| OH2
20| 20 ZOX|H SAE FOAM FHELD.

N
v

CHE 20| 201 Z0XH HAS FlOIM FHELD,
3 > Shtenjoys SHUZ SYAE 20 exciting=
SMEAEE SBANZ, BAF A0M BAE FHEL,
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2 Lfe L arol 1ois Fojn It
b AR HR(KIBH)0 MQI HRYSAOICE,
3 A= OIS WR A0S

b SR 40| YAHbabies)S YOIN FoIZES
ST ALO|CH,
4 I OXE & AES L HT0IC
> HEAIKE 40| PAHThe boy)Z S0l RoiZ=
ST ALO|CH,
5 M2 7122 HeE %
> 2| F0i2 M
6 L= Lf ZOIKI9H ek S THS SOfSILY,
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REVIEW TEST 05

1® 2@ 3@ 4@ 5Thank, helping 6@ 7@ 8@
9@ 10D 1M® 120 13® 143 150 16 @ 17®
18@ 19Q 20® 21® 22D 23 @ 24 is not easy
to use 25 It is important to study English 26 is too
hot to drink 27 am willing to accept your offer

28 built 29 playing 30 ® staying up — to stay up

1 @4 @ UKL @ MXCH @ MLF & YCt
» ® know?| IHEARHEE knownOlLt,

(know-knew-known)

3 R HE AZIM B =0 SR
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> toRYAE 09| 42 QU HAHRO] "to + SAHE™.2

> °49M % 5l toRFAE (HH)BAE FHOIM FOIEL.
(to drink anything — anything to drink)
® A0|EE Q0fA SFoHE HBiT
abroad d{2I2[0f|A]
» hopet 2% TH 2| SAO0|EZ toR A

U7 F0[9| 2 QY X

YEIE MX]
20, (to hope — hopes)

@ = AL OA= A& S0
@ Us |

© UE BE £8 207 A
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» @ SAt wantz FX0Z toRTAE 20

(saving — to save)

O = FRE dlior ZX| ST
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@ L= O AR o2 22
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rojzt
StCt. (breaking — broken)

@ 72 e S0|TTISH AR

» SO[TITEH0I2H= 552 50| H0{0F StEZ TZAS

MOF Bt (excited — exciting)

® He 207 Yot U= HAHE 0fL?

b ESI QUEOI2HE ROl KO| H[0{0F SRR MMEAE
JOF Bt} (talked — talking)

> 1 022 8 UEE 84
~ol7|0'2kE S£5 LHEfHILY,

Heasy) 12 toR ™A=

> toRFAITIF FOfl B2 E%
tRPATE 2

G-ZONE

F0 2|0l 710 2 A4
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1

26 » too + HEA + toRYAL ~op7 |0 KR -

ro

27 accept H0FS0ICt / offer H|Qt
» toR2 ™A= willing, sure, ready, likely S #EAtet Xt3
MolCt,

28 » AOT0I2E 5 -
built7t HEsICt,

Qt20| &0 E[0{0} 5122 DpH A}

it

29 » X1 A=, AFSIE 0|2 &S - TIAO| K0 £0{0F 5122
.
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ron

THEAL playing0| ZEstC]

30 L 01 Dlofet L= SATIK| 7H QU 22 L P2l
201N L2AT[BS] UXE TH, 9 £RHS WX
%471 913 X8| 0/0P7IRUCE, ZAL| HSO0| HAD 2717}
H9{O2 SOIYLY, L 0iSMUI Lz A2IS XI27] AZ3HCt

2L 22 R2E 0I5k 4 FEHON.
stay up 7H01 UCt / quietly Z83] / light &; XS
> @ SA wants SHUZ toRYAE
[0{0F Bt

MBZ to stay upOl

e
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EXERCISE

A
land 2so 3but 4 or 5but 6 or 7so

1 229 EL= 4S0| HOo|Ct.
» A and B ‘A%t Bate SO FALeL HALS o1Zata QI
2 F9IM 22l HUIIE EUCL
» A so Be ‘A, Je2iA B'2t= X2E so &
LHC},
ERI’” L= JZX] Lt
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5 A2 XHF0| OFX|2, Xlg2
» Abut B= ‘A J2iL} B'2l= %



AASHCL
AHO|F E= XZHA S0 0= A
» Aor Be ‘A E= Bets 22 MEE LIEHC}
G337t 2 AEfotL f2l= ME2{0f ot
» A so BE ‘A, J2{A B'2ts 592 so U2 /0l 1O Fe

Z1E LEFHT
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U= @ 01 H2 =0 FXt2(o S
® L= WY AIZ0[ AL

» after= WS UEl= SSESAE, ~F S0i'2h= S£0I0t
H&At after7t 0= SAPE0| FHEECH HX Joj ol
® W N7 shEfoltd f2ls 43S 2 A0t
® J4= J%s Z0re Ao|Ct,
» ife Z27S UEHE SSHEAME, "~oiltd, ~ots
=0

L2002k 50|t RS LiEE 2AMEME
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» while2 HE LtEIL
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@ Wt oRE W L= 3 A7t B HRAC.
® L= SgHAM HEs 2 Ao,
» when2 ME UEH= SEHEME, '~& Of'2h= SolCt

C

11tis clearVshe 2 The fact isVI've 3 Do you thinkVhe
4 The problem is‘/they 5lt's surprising\/you

7t F=0lIM SAThs A2 SHSiT

» that0| E(she came from England)g 0180{ 0| 2%
QLo 01 HES S| BT R0 X12|Q] It2 7150{0|2
thatO| 0|Z1= HAFHO| ZIZ=0{0|Ct,

2 A W7t BE =2 MHRCH= Z0]C

» thatO] H(I've spent all the money)g 0|Z0{ 0| 2%
etollAf 20f kS S1A it
3 UE J7F A% JUE ARttt 4246t

» that0| H(he really loves her)S 0|80 H0| 2% Qt0i|A]

4 =M=

St thinkel =X0f H&ks o7 Sich
IS0A =7t oAt AO|L

» thatO| H(they are out of gas)S 01201 H0| 2% QHoj|A

20| Agks st St
5 UIta%s UX| Rk A0| sHCL
» thatOl E(you didn’t know that)g 01201 H0| 2%
QLoflAf 301 H2tS ShA| BT 0] AH2|2 t2 7130{0]12
thatO| 0|Z1= HAPEO| Z50{0]Ct,

D

1and 2 before 3 but 4 if 5 because 6 that

1 Lb= DAERS MBCE Z230t
b A%} B'atT iZste 20| MOIARLOR and7t MEsICY,
2 O eise 2MET} AIREY| Hof 25t
b 204A ~ 517] FOf'2Hs £9| before7t HABICY,
3 Ojo|3E BAS| ZRYKD T ZOHCH
b M2 BHHE|S 20| AAL 0 buto] HESICt
4 Y7t 1= 2| HCHE 4SS0 2 Al
b SOA ~SICHE, ~ Bl BRO="0j2Hs SO if7} RREILY,
7S LIEHHES SAPEOIMS SR SAIZ 0j2o] YS
LFERACH
5 Tle Bt W) 20 SH0HCIE K] ULt
A

» 2UY ~5P| E0l2t= 59| because/t HESIT
6 Lt= 127t 19| of4E X A0zt Y=
» H(he will keep his promise)0l 2% QtoflAf SAt
believe?| 01 A2 {0 I122 YAES 0|0
H&Ar thatO| X HsiCt,

E

1 If you want to lose weight

2 so | can'tlam not able to] buy the car
3 because he missed the bus

4 and (l) bought some eggs

5 after you finish school

6 while | had[was having] lunch

7 (that) he didn't tell the truth

1 > '~oIOH, ~She ZR0IE0l2He 29 FSAL 7t HESIC,
2 > 9 L8O AME LIEILHOF ot22 ‘TJefiA 2= 52O HEA
so/t X HslCt
3 > ~oP| MEo'EkE o HEA because?t HAESIT
> MZ HIZSH LS Hdste F&A andZt A,
5 > '~3S02Hs 2o HAA after?t HESICH HE LEHE

t
SFAEUAME Y SALZ D242 LS LIEHHDY,
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6 » ~ol= Setol'2h= o F&AH whileO] ZHsICE
7 > HO| 2% Ol SAF knewel F%X{0{9] %% afiof of22
T&At that0] MESILE SX0{2 M0l thatEe]
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HEhE D7 O
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EXERCISE

A

1 which 2 which 3 which 4 who 5 who 6 which
7 who

1 LU= W7 U3E DVDE 7}X1 = Us 9<'O1H1341f.
» MSlAl the DVD7} At
borrowed?| SH0 Aglg ol22 SHZ &2 IEH':”M
whichg #Ct,
2 0|2 49 QMg HiE 4= Q= HMo|Ct,
> M3lA} @ bookO] AFZ0|1, EACHEAIE QoA =0 &
StEE 24 BAUWHA whichs 2Lt
3 J4E oY 30| W2 F T AR
» M3At a few photos?t AF=0|1, EA|CH
tooke| SM0| AEHS a2 ZAZA UAHUZA whichs
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g:!ge SIDZ FZ A YA whoS

Ot= 5 HO| AFZO| URACE,

two people0| AIZ0|L, ZACHHAE QU0IM SAF
knew?| SX0] s St22 SX2 BAUWHA whoS
£t

6 Ltz 7= 0|0 & =~ QIUE 2XHE EUCL

» M3AFa problemO| AFSO0111, BATHHARE QLA SAL

could solve?| ZX0] A& otE2 SXZ HANHAL
which& Lt

(3]
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7 MR 2Eols MESE Aot
» M3AF PeopleO| AFFOLL, BATHHALE Qtoll =0 A&S

5l82 £ BAUHA whoE 220t

46 G-ZONE

1 who helps sick animals 2 which can't fly
3 which washes dishes 4 which grows in a desert

Ato|ct.
personOI M%.*OIE AUHA= whoE 21,
Atel =0ff LXIAIZICE

v o4
10
>
rir
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st
ol
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ro
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> 0z
E
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rx
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At a d %OIE‘E AUHAE whichS £0,

M&7|= 228 e 7170l

§A} @ machineO| AF20|22 A HHAH= whichg

AHHAL F2] SAk= MYAL 201 YX|AIZICH,
tatollM Xi2h= AlZ0lCt,

Aba plant7t AFE0I22 EAHA= whichE X210,

PACHEAL FO| SA= MEALS] =01 URIAIZIC
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0 Lh= ZZA0 Al= 271 U
1 U7 oY DiRRE AWM UO|T

» that | receives M8AL the e-mailsS FHFE 54
EATHEAFO| L,

2 W7r ool 2 57 4= KR

» | watched last night2 43A} The soccer match&
THFE S HABAEOIN, A0 SHA 2ATUEA
which &= that0] H2f=(0f QI

3 0]AN0| 25 AEZ PSOE 30|,

» which made him a star= 83t the movieE RoF=

ZZ HAHBARHO|CE
4 LUE 28 20| AS0T QF=2ES DRiLE

» that is made without sugar= A8At yogurts #0F

ZZ HAHBARHO|CE
5 UW7F X0l & FoidshE 1 RO,

» | bought last month= H#At The cell phoneg
THFE S PAUZAEO|N, 20l SXZ 2AUZAL
which &= that0] A2F=0f QlC.

D

1 (that | receive) 2 (I watched last night)
3 (which made him a star)
4 (that is made without sugar) 5 (I bought last month)

=
=

1 which | want to visit
2 the sound that came from upstairs
3 the jeans | gave her on her birthday



1 » the cityZt MA0| which7} 0]T1= SXZ A HHARE
0] 0|2 HHZEL,

2 » the sound?t HBALO| thatO] 0|Tl= 2 EAHHAFHO|
0IE FHEL

3 » the jeans?t {1#AL0|0] which E= that0] H2tE =42
HAHHIALEO] 0| RHEDL

E

1 Have you read the book that | gave you?

2 | like teachers whol[that] have a good sense of
humor.

3 | don't like people who talk too much.

4 The man who is talking to the students is the
principal.

5 Chess is a game (which[that]) many people play.

1 WIHHOIA & S HOEQALI?
> S LAUYAL thatO] ZAHYARE QoM S5O At
ot UCOZE BNUE FEO2 MX| L, (that | gave
you the book — that | gave you)
2 L= Z22 |0 20| A= ME4S0] Z0
» MAL AY = BAHIA who £ thatS 2L
(Which — whol[that])
L2 20| 5= AIRES Z0t6HK| =L
YA UNEAL O SAt= MHAHpeople)ol =01
[AZICE (who talks — who talk)
S0l 0]0F7|5t 1 Q= A= WHO|CH
» F0j= 2 BAUHEAPE who is talking to the
students7t FOF= 3Q1& H4= The man0|22 2%
MR 2 SALRl beSAE is2 L. (are — is)
5 Has U2 AZS0| k= A oICH
P HHATZE ASY = HAHEAL which = thatS A0,
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EXERCISE

A

1isn't she 2 don'tyou 3 can'the 4 did you
5 was it 6 didn't they

1

B

28He Yt Lo[7} o BoF, JZX| iL?

> beSAZE Qe BHY BIIIZER TbeSAl + AR,
HEOIL. SEE Aol FE9 RI22E 20

U= 1249 MU E ok, JIZX| Y7

P UBLSAZE Q= BHQ HIIIZES "doSAt + TIFAL,
HEOIL. SEE Fldl= 289 RI2E2S 20

E2 AFHE 1F £ AN, 2FX $LI?

P ESAZE UE B BIICIER2 TESAL + HBA,
HEOILt. SEE Fols RO BIICIEES 2.

U= OM| AFRIE SHA| 2401, 12 X[?

P UBLSAZE Q= BHQ HIIIZES "doSAt + TIFAL,
SENOICE, AlMl= 2 2E(TAAH) LRIAZITH 2HEZ
ol 399 f#ItezEs 20

20129 Af= 2= HO

» beSAt Q= BH

SEHOICH AR & SR(THAH)O LXIAZICH RS
o= 2H9 Brlol2eg At
7 BMSS T RSO HML0| 57|12 BIZH0), T2X| QLI

=
P LUEEAE QL= 2O HIIIZE2 "doSAt + AR,

[LELy—

EHOILY. AIMIE & 2F(UAAFN LXIAZIL 3EE

1Don’t 2 Do 3 Let's 4 Don't be 5 Never 6 Go

J
H Y2E Don't + SARIE ~

of &efolct,

's best ZMg CtatCt
SAHE ~ .2 HEjo|Lt,
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4 be%* t7F 2401 —E’SQI 23 HYEL "Don't be ~.,9
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5 LE Hof 9K o,
» "Never + SAHE™ ~ .2 "HOf ~5tX| Of2t = 2=
Don't + SAHEY ~ .20 O Aot SXIE LEHACE
6 Xz g% Aty 72t

> 3 THE2 "SAEYE ~ .9

ro

SHE{OILY,

o

1 Let's start now

2 How about sending the book

3 Shall we make some cookies

4 Let's not buy this color

5 What about heating this spaghetti
6 Why don't we join the science club

1 > let's + SAFEY ~ .2 ~olAt'eks SOIC

2 » "How about + SAFEF-ing ~?,i= ‘~dt= A Ofif?'2t=
50|t

3 » "Shall we + SAHRY ~?7,2 ‘22| ~&8N72ts %OIEF.
» TLet's + SAIHE ~ .2 EEER Let's FO| notE

2HS, ~GHR| YA 2= 0T

5 » "What about + SAHH-ing ~?7,2 "~5k= A 0fIf?2h=
501,

6 » "Why don't we + SAFRE ~7,2 ~5t= 2 o7 2t=
5oLt
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1this puzzle is 2 What a sad movie 3 What a nice boy
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O + SAN HEHO| HowZ A|RISH= ZEHRS 20t

1 You like coffee, don't you?
= You don't like coffee, do you?
2 Don't be angry.
3 How gently the rain falls!
4 Let's not use the escalator.

48 G-IONE

A EE 2AY M= "How + EEASAL

5 What a sweet pie it is!
6 She didn't come to the party, did she?
7 How about opening the door?

U&= 70 E £0tsl, 2ZX| §L? / U= AHLE Z0t5kK| 240t
DY

) X2

[
oo T |:

2o #IIR RS, BERE %IOH

EI9|EEE MOF St (do
don't like)

SHHX| Of,

» beSAZt M01 270 21 HHEE Don't be ~.,9
SEfOICt. (Don't — Don't be)

HI7t Y 2585 QoX=7L

» ZZ5h= 20| EAKgently)0|22 HowZ AlXfots HEES
20 (What — How)

1 o|AZ0IHE O|&5HK| AL,

> TLet's + SAHRY ~,2 2HEL Let's F0l notS 2

1
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Ct. (Let's use not — Let's not use)
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20| AHa sweet pie)0|22 What22 AIZf5H=

2L}, (How — What)

IHE|Of| 2X] QU0 JTEX|?

IR 29 dosSAts o BEI AIKIZH LXIGHOF
(does she — did she)

28 oz Al olm?

» ~ot= A o7t S22 MIFE2 "How about + SAHEH

-ing ~?,9 HEHOICE. (open — opening)
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REVIEW TEST 06

12030 405060768390 100
1@ 12® 13 Don't look 14 Let's not 15 can | 16 @
17 ® 18 How 19 don't 20 that 21® 22 @ 23 What
a beautiful place 24 How small the animals are

25 The man who sits next to you 26 @ 27 @ 28 ®
29 @ 30 (1) @ Why we don't — Why don't we

(2) ® which — that (3) © What energetic a boy — What
an energetic boy

Lt U2 A 712 %
> N2 = W8S A

HI7F 21 ARR7| HE L= EAIS E*Ef
» ‘~0|7] HR20'2Hs 59| 0|RS UEHUE SETSA
because’t &3t

1|—=19| OMiXl= JU7H RS I SO0R7HAC
~8 If'2ts £9 HE UEE S5F4A wheno]

X5ttt

@ 1 0P| FE AFAYTU

@ = g e A70[ETL

@ Il Y olEEA EF=7U

@ D52 FY HE AR—ES0IFU

® 1 S22 L 0lYet 125 TR

» @ LZESt= 240] HAkind people)0l2& How?t O
What22 AlZist= ZERES MoF 3ttt (How — What)

@ L= 50| 4E Z0tokX| it A 2.
t

@ 2= BX| B 58 AT 1S B,

©@ = JHA HetE 2AXNT, DH= LA LUt
@ Lt= ALE ZO0totA| §47| HE0 At DHi

® LY sh&fotihH 22
» ® =79
(it will be — it's[it is])

@ Lt= ojAtel 277t Lk

@ HUME W7t E0tokzs a4,

A
= T
Zolaz 5% |§.$ F but0] =Esict.

FAEUAME Y SAZ D249 €& LIEHHDY,
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13

14

15

16

Z TAEAL which £&
that2 MOf St} (whom — which[that])

Q2| HAO| EFH O Zx= HX| YA
» ‘~SiAt 2 529 TLet's + SAFREE ~,2 EHER "Let's
not + SAMHE ~,0 HEHZ ALt

@ Y7t @5 2t AHE &
@ A=0l= 22 M= S=0IC
@ L= Lo AL Jet 2AE A0
@ U 6SY2 Ut & IEE SO0totX| .
©® F2 W HAMM 2= 0|R0] UL,
> @ SHA AWSAE dafe 4 oL, =2 HAWHAM=
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Ui AR A0 Yste ABSS 09 HXEEI,
diligent £X|2i5t
» MeliAt The peopleO] AFZ0|T ZAHHAE
AEtg SO 2 22 T HHAL who[that]2
workis ML 401 YX|A|ZIC,

QIO AT =0
MO, Of SAf

> MAF the keys7t A0 BACHHARE QtofA =504
At which[that]Z 204, oy
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2 YA M 4 QL
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"Let's + SAHEY ~.2°
not + SAHHE
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17 » ~ol= sA0I'2t= £ HE LEH= F&AH while]

HEsi.

[e]]]
-

18 (1) 1= 8L ZIX|otLH
serious Azfst FIX

(2) 29 6i3dE HY Al
sensitive M&st off

> AXSHE UO| = O AEAM0|22 Howz AlAfSh= &

F

o

tLH

ro oz
ol

ro

Z =S
=)
19 (1) £L| OFF = ofX| -0

(2) Uz AZ=E Z7|X| 20t 2ZX[?

» (1)2 Don'te ~oiX| Ot = 52| 28 HES, (2)9
don't= 3H9| RIISIZE Aol 401 BMES BHECR
2=

20 (1) L= U7t WA & 27t22 340,

(2) 2= W A€ E0retthal 2fstitt,

> (1)0l= SXA HAWHA thatOl, (2)0l= SAf thinks2
X2 M0|= FAFES 0|0= F&At that0l S01Z =
ALt

21 ® Ue 19 FAE YX|, JZX| 2L?

> 2IIREL o EXO| AM(HMAIK)RE YXIAIZICE,
(didn't you — don't

@ J= 25 5t 2g £O0I6HK|, 22 X| L2

» 2HE o= 3 BItERES 20
(does he — doesn't he)

@ Ui WA ChAl Msker AR, 2ZX| §4L)?

» SHE Fol= 2 BIIEES 2.
(will you — won't you)

@ D=z HECE LO7F o EX|, JZX| Q4L)?

> 2IIIREL o EXO| AM(HIAIK)RE YXIAZICE,

=

(wasn't he — isn't he)
® I U FIF0f, JEX| 2LLI?

22 @ At 9 P2I3t Do
» =A 4,|-71||:HD:|A|-E AH2F

7F ALt

ﬂJ?.P

2 QlCh (a cat is very clever —
a cat which(that] is very clever)

@ Ot0|2= 7|7t i 2 oI T

@ O|A2 LH7F XIHR01 A AIAH O[T,

> S5 LAWY which[that]7t M2tE EXC=,
LATHAE QoA SX0|S 5522 M| =Lt (the
watch | bought it last week — the watch | bought
last week)

@ = W7t OfF| 2 gXHo|C},

> 2N HAUYAL thatO] MFOOZ  HAHCHHARE Ot A

SXUE 202 MX| &=Lt (the man that | met him

50 G-ZONE

yesterday — the ma
® 5| SR Y SIS0 Tt
> =Z BAUHBA who?t MUOO R TAHHAIEOA F01S
EE0=2 MX| =Lt (many students who they don't
study hard — many students who don't study hard)

n that | met yesterday)

=I1=}
L=
f M

23 » ZZoh= 20| YAHa beautiful place)0|22 "What +
+ HBA+ AL (+ 30 + SAL SEH LR

24 » LXR5H= 20| F2AHsmall) 0|22 "THow + HRAHEAN +
0] + SAH, YEIQ ZEHROZ IMOF $iCt,
25 Irish OFUHEQI(Q]), OFUE0(2]), OFUH =2
» The man0| MeAL0| 1 A HHAFE who sits next to
youZt NHAIE RHFE= YEHE MOF SHC,

26 » @ 22 UEUE RFAENME Y SAZ 01242 2
LHEFHT

27 » @ 'Why do we park here?= "22l= 2ff 047/0f
FAfSH?'2tE £00t 2| U 22 £0| =2 ‘Why
don't we park here?' 2 MOf 3tCt,

Why don't we + SAHR ~?: ~5H= 7 0fw{?

@ e L1|7+ 04 I U

@ We 17t 01Z & £ Aot YL?

@ L= A7t UAHE A 7

® J47h 27 A2 satgioh

» ®2 that2 (R)FHZ M0l FAES 0|I1= that0| 2
LHX|= SHOZ A0l YAPES 0|T1= thatOlCt,

SH=2010|C}, = 0|22 2 O|ARMCE
|= 0|22 O|AtSt 5t=2010]Ct,
T E71= MRUALCH Lhs 24S BUCH

— W72 1 F71= MHUAC

®

® 0]A2 ?aolﬂf J42 1 322 0|0ZICt,
— 0|2 1 S22 0|0{X= Zo|tt.
lead to ~& 0|0{X|Ct
» @ The gameS AR St= S52 LA HEAPEO
HZ|0{0F 5, LI BANHAREO] MAliAL BiZ CHE0f
<f0F 3Tt



30 A: 2| My Sof2(of E= A ofri?
B: L= J| B AR xaty SQ104.
A: &.. SHIS #OIEH S0 ZFsH: . A2 W -
R0 A2 ALXOF,
B: U= YL o|dX| FXl= 0t0J0H
fee 23; *8lH| / energetic HIUX| YXle, X0
» (1) @ ~ot= A ofmf?'2k= 22| MHE2 "Why don't we
+ SAHE ~2,& &0 (Why we don't — Why don't we)
(2) ® Ho| 2HOIM AL AHH(SAF heard2l 5%0))S
St=Z 0| &A= thatOICh (which — that)
(3) © BAIS BT M= "What + (alan]) + (Z8AD +
YA (+ 01 + SAHL HEf2] What22 AlXfoh= UEHES
L 20| ZSOR ARE= Ho| H0ll= a Chil anS &0t

(— The game that | watched was exciting.)

What energetic a boy — What an energetic boy)

I TEST 01

1

1® 2@ 3@ 4 Areyou 5 there aren't 6 @ 7 What
do you usually have for lunch 8@ 9® 10 (1) ®
Q@R ©@4 o 1N1® 12@ 13 (1) harder (2) luckiest
14 ® 15 wasmade, by 16® 17@® 18@ 19® 20 ®
21® 22® 23 ® 24 Why don't we 25 don't be[get]
26 How easy 27 aren'tthey 28 @ 29 @ 30 ®

@ 2hfet - ECt @HURH - =

® 14 - 25[aXE] @ S0ER - /IS
©® ~FE - ~ 020

> D SA @ BAFQ HHA @ HEAL © HRIAF - FHAL
@ open (&L}) - opened - opened

@ try (ME=3IL) - tried - tried

@ sleep (XITh) - slept - slept

@ eat (HL}) - ate - eaten

® see (L) - saw - seen

» @ sleep2 =& SAE, BAYE sleptOlLt.

® SA0|Et,
» @9 it2 ‘JA0l2t= £
=M, 22 S& HEHE o

Or=r},

LS

HEALOIH, LIHAI= ALt

g
M= HIQE FO= M2 oiAoHA|

4

10

n

12

A:UHE 52718 71t Y?

B: &, U= FAS 7|t 0.
» Yes2 Hol¥ D tHEQ] =017} |, SAZE besSAlRl Ao
0t "Are you ~?,2 AlAShE QRE(TAF)0IC.

A: 0|AE BHE AZ=l0| AL?
B:ofl, glof.
» "Are there ~?,01 T CHEF2 Yes, there are.” == ‘No,

there aren't.0|Ct. NoZ H3IRCDE there aren'tE 2L}

@ U= g Ao|L?
@ U= oLt e o
@ L{9] 0jp{L| Al O1RILI?
@ Ujo] &2 7|7t Yotk A7
® 0| Z7|Me AntoL?

HES 7HRIL AL?

> @2 IME 21 U222 When, L= HEA{RAHt
SHH M0 "HOtL} ~SH~5PA]0l2t= S8 UEIHER Hows
2
XIS HO.

B: L= HE MEQ
> QIRAP} QU ABHSAY ojR2e T
+ 70| + SN ~2,9] HEZ 20

LELSAF 0| 20,
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| 9 9|2At + do[does]
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=250
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A & gl BALoI,
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e 2= oroll BXIE
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> © remain2 SH0{e BH A= SAPFOfLTE

@ Lh= Y AFRE &t
@ & QA Us
@002 i £
@ dOjet L= 2 3
® 1252 20 2ol LX
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@ LIZYSES 7HS00| W0 27 WSt

@ 11 Fst= 25 E 10AI00 AR

® Lt= OS 30| %222 MY Zo|ct,
leave for ~2[~2 &f5lf] MLIL

> @ HMAEHE an hour agot Z0| LMl HAS
LIEHH = 2ot SHHl AX| IO B2 WHAIXIE MOF BHCY,

(has gone — went)

2= 22 hard®| H|W & harderZ LEHHALCE
| £2'0|2ts S22 luckyQl 43 luckiest2

S +y2 BUE BSAQ 432 yE 2

@ 11 0t7|= CHA 71 017t ULt

» tooth?| B4+&2 teethO|Ct, (tooths — teeth)

@ WA 10%2 30|15 &2?

» S0l= & 4 gl= BAO0IEZ piece 59 H?
LIEHACY, (ten

@ Li= o3l =0

@ 1= OFF] AIME o

£ MM Y2

papers — ten pieces of paper)

(two sllces of breads — two slices of bread)
® J4E DY 8 AZH S0t YOS ZESIC,
» houre 220 2E0Z AZGIER 0 ans

(a hour — an hour)

rx

Ch

Chte= Tu49 0f7I§

— of20e EYA
SR

> BAMMCS| +SE= "was[were] + HARALOIL, #L{R=
Toy + S ,9| HE|Z LIEHHCE

=Tl

Ploll OFFLH2 S22
CHLEOf 2ol Z1159] OF71E fIstH

£ SACL

OUHsgEHEE =AU

- =1
@ B2tz MIQP OW71e =
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.
ASNL
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» @ must not2 1, don't

have to= ~& 7t gitf2h= S2ER9| 0|t

1 95
- L= WEMA 27 %

-2l WHE sasi,

b bys LIEILZIL, ~2 Efn

A =
~2 O|gor04 B S0 DEATS LIEHIC

G-ZONE
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19

20
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AT H7t EE8 Eote gne?
B:

@, @, ® =E2YUc

@ Y, Z12HOF2 BHLICE,

©® Z&SHR|2 oF FLICE

[ELE

> @2 Yes, you must.'= 2FE 2= BE2 "Must |

~?,(~cHOF SHLEQ?)0l Thet S| RO

» look2 HRIA} for/at/afteret M SHLIS| SALKE M0|7|=
ST} MX|AtO] k2t S0] atEol OQEHZL
look for: ~& &fCt
look at: ~2 2Lt
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